#FIBERT R (FHERTIR)
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EEERS ERT IREMEES [B{ERRT
3620809|h—TH 1 &Fith 3620806| K=F/NE1004 7FEH# 2
3620809|Fh—TH 7 &Fith 3620806| K=F/NE10045%FH15
3620809|h—T B 8 #Fith 3620806| K=F/NE10045%FH#M15
3620809|h—TH 1 0 Fith 3620806| K=F/NZE100 4 5FEH#6
3620809|hL—TH 1 1&Fith 3620806| K=F/NZE 1 0 0 4 4 Fith
3620809|hL—TH 1 5 Fith 3620806 K=F/NZE1 00 4 5&Fih1
3620809|hL—TH 1 6 Fith 3620806| K=F/NZE1004 5FH#1 4
3620809|h—TH 1 7 Fith 3620806| K=F/NZE100 4 5FEH# 9
3620809|hL—TH 1 9 Fith 3620806 K=F/NZE1 00 4 5&Fih1
3620809|hL—TH 1 9 Fith 3620806| K=F/NE 100 4 7 &Fith 1
3620809|—TH 2 0 Fith 3620806 K=F/NZE1 00 4 3&FiHM1
3620809|h—TH 2 1 Fith 3620806( K=F/NZE100 4 3FH#4
3620809|h—TH 2 2 Fith 3620806 K=F/NZE100 4 3&FM1
3620809|hL—TH 2 3 Fith 3620806 K=F/NZE1 00 4 3&FiHM1
3620809|hL—TH 2 4 Fith 3620806 K=F/NE1 003 7 &Fih1
3620809|hL—TH 2 6 Fith 3620806|K=F/NZE 1 0 0 3 6 Fith
3620809|h—TH 2 9 Fith 3620806 K=F/NZ=E1 00 3 3&Fih1
3620809|—TH 3 0 Fith 3620806| K=F/NZE100 3 3FEH# 3
3620809|hL—TH 3 1 &Fith 3620806 K=F/NZ=E1 00 3 5&Fih 1
3620809|hL—TH 3 2 Fith 3620806| K=F/NZE100 3 5FEH# 2
3620809|—TH 3 4 Fith 3620806|K=F/NE 1 0 0 3 9 Fith
3620809|L—TH 3 6 Fith 3620806 KX=F/NZ=E1 00 3 8 &Fith 1
3620809|h—TH 3 9 Fith 3620806 K=F/NZE100 4 3&FiM1
3620809|—TH 3 9 Fith 3620806| K=F/NZE100 4 3FEH#S
3620809|hL—TH 4 1Fith 3620806|K=F/NZE 1 0 0 3 9 Fith
3620809|h—TH 4 3 Fith 3620806| K=F/NZE100 3 4FEH# 2
3620809|h—TH 4 4 Fith 3620806| K=F/NZE100 3 4FEH# 2
3620809|L—TH 4 5 Fith 3620806 K=F/NZE100 3 4 Fih1
3620809|—TH 4 5 Fith 3620806 K=F/NZE100 4 0&Fih1
3620809 —TH 5 1 &Fith 3620806| K=F/NE1004 1&HM 12
3620809|hL—TH 5 2 Fith 3620806| K=F/NE1004 1%FEH#1 3
3620809|hL—TH 5 4 Fith 3620806| K=F/NE1004 1HEH#15
3620809 —TH 5 6 &Fith 3620806| K=F/NE1004 1&HM16
3620809|hL—TH 6 1&Fith 3620806| K=F/NE1004 1FEH# S
3620809|L—TH 6 3 Fith 3620806 K=F/NZE100 4 0Fih1
3620809|L—TH 6 3 Fith 3620806| K=F/NE1004 0FEH# 2
3620809|L—TH 6 4 Fith 3620806/ K=F/NE 1004 0FM2
3620809|L—TH 6 5 Fith 3620806| K=F/NE1004 0FEH# 2
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3620809|—TH 6 9 Fith 3620806/ K=F/NE 1004 1&HEMS
3620809|h—TH 7 O Fith 3620806| K=F/NE100 4 1 &1
3620809|hL—TH 7 2 Fith 3620806| K=F/NE 1 0 0 4 1 & 1
3620809|h—TH 7 3 &Fith 3620806 K=F/NE100 4 1 &1
3620809|hL—TH 7 4 Fith 3620806| K=F/NE1004 1HEH#O6
3620809|h—TH 7 7 Fith 3620806/ K=F/NE1004 1&EHM6
3620809 —TH 7 8 &Fith 3620806| K=F/NE1004 1&H19
3620809|h—TH 7 9 Fith 3620806| K=F/NE100 4 1 &1
3620809|—T H 8 0 FHith 3620806| K=F/NE 1 0 0 4 1 & 1
3620809|h—TH 8 1 &Fith 3620806| K=F/NE 1 0 0 4 1 & 1
3620809|—TH 8 3 Fith 3620806| K=F/NE1004 1HEH#2 3
3620809|—TH 8 4 Fith 3620806| K=F/NE1004 1&EHh2 3
3620809|—T H 8 6 FHith 3620806/ K=F/NE 1004 1&EMS
3620809|—TH 8 7 Fith 3620806/ K=F/NE 1004 1&EMS
3620809|—T H 8 8 Fith 3620806/ K=F/NE1004 1&EH#9
3620809|h—T H 8 9 FHith 3620806| K=F/NE 100 4 1&Hh 7
3620809|—TH 8 9 FHith 3620806/ K=F/NE1004 1&EH#9
3620809 —T H 8 9 &Fith 3620806| K=F/NE1004 1&H20
3620809|—TH 9 0 Fith 3620806/ K=F/NE1004 1&EH#9
3620809|hL—TH 9 1&Fith 3620806/ K=F/NE 1004 1&HEMS
3620809|h—TH 9 3 Fith 3620806| K=F/NE 5 0 4 9 Fith 1
3620809|h—TH 9 4 Fith 3620806| K=F/NE 5 0 4 9 Fith 1
3620809|h—TH 9 5 Fith 3620806 K=F/NZE5 0 5 0 ZFith 1
3620809|hL—TH 9 7 Fith 3620806| K=F/NE 5 0 5 1 Fih 1
3620809|h—TH 9 8 Fith 3620806| K=F/NE 5 0 5 1 Fih 1
3620809|h—TH 9 9 Fith 3620806| K=F/NZE5 0 5 618
3620809|—TH 1 0 0 Fith 3620806| K=F/NE 5 0 5 1 Fih 1
3620809|h—TH 1 0 1%t 3620806 K=F/NE5 0 5 2 Fith 1
3620809|h—TH 1 0 2%t 3620806 K=F/NE5 0 5 2 Fith 1
3620809|—TH 1 0 3%t 3620806 K=F/NE5 0 5 2 Fith 1
3620809|h—TH 1 0 4 Fith 3620806 K=F/NE5 0 5 2 Fith 1
3620809|—TH 1 0 8 Fith 3620806 K=F/NZE5 0 5 6 Fith 1
3620809|h—TH 1 0 9 Fith 3620806| K=F/NZE5 0 5 6 &1 3
3620809|h—TH 1 1 0Fith 3620806| K=F/NE 5 0 4 9 Fih 1
3620809|h—TH 1 1 0Fith 3620806 K=F/NZE5 0 5 6 Fith 1
3620809|h—TH 1 1 0Fith 3620806| K=F/NZE5 0 5 6 &Fith 2
3620809|h—TH 1 1 0Fith 3620806| K=F/NZE5 0 5 6 &1 3
3620809|h—TH 1 1 0Fith 3620806| K=F/NE5 0 5 7 Fith 1
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3620809(FFR—TH 1 1 1 & 3620806 K=F/NZE 5 0 4 9 Fith 1
3620809(FhR—TH 1 1 3 & 3620806 K=F/NZE5 0 4 9 Fith 1
3620809(FFR—TH 1 1 4 &Fith 3620806\ KF/NE5 0 5 7 &Fifh 1
3620809(FFR—TH 1 2 0 &Fith 3620806/ KF/NZ=E5 0 5 9 &t 1
3620809(FFR—TH 1 2 1 & 3620806 K=F/NZ=E 5 0 6 9 Fith 1
3620809(FFR—TH 1 2 2 &Fih 3620806 K=/N%=E 5 0 6 6 &Fit 2
3620809(FFR—TH 1 2 2 &Fih 3620806 K=F/NZ=E 5 0 7 O &Fith
3620809(FFR—TH 1 2 4 Fith 3620806 K=F/NE5 0 7 3&FM 4
3620809(FhR—TH 1 2 5 &ih 3620806 K=/N%=E 5 0 6 6 &Fit 2
3620809(FFR—TH 1 2 5 &ith 3620806 K=F/NZ=E 5 0 7 O &Fith
3620809(FhR—TH 1 2 7 &Fith 3620806 K=F/NE5 0 7 1&FHs 1
3620809(FFR—TH 1 2 8 &Fith 3620806 K=F/N=E5 0 7 5 & 2
3620809(FFR—TH 1 2 9 &Fith 3620806 K=F/NZE5 0 7 5 & 1
3620809(FFR—TH 1 3 0 &Fith 3620806 K=/N=E5 0 7 6 &Fith 3
3620809(FhR—TH 1 3 2 &ih 3620806 K=F/NZE 5 0 7 6 &Fith 1
3620809(FhR—TH 1 3 3 & 3620806 K=F/NZE5 0 7 5 & 1
3620809(FhR—TH 1 3 5 &ith 3620806\ KXF/N=E5 0 8 1 &Fith
3620809(FhR—TH 1 3 7 &Fith 3620806\ KXF/N=E5 0 8 1 &Fith
3620809(FFR—TH 1 3 9 &Fith 3620806\ XF/N=E5 0 8 1 &Fith
3620809(FFR—TH 1 4 O &Fith 3620806 K=F/NE5 0 7 5 & 2
3620809(FFR—TH 1 4 1 & 3620806 K=F/NE5 0 7 5 & 2
3620809(FFR—TH 1 4 2 & 3620806 K=F/NE5 0 7 5 & 2
3620809(FFR—TH 1 4 3 & 3620806 K=F/NE50 7 1% 2
3620809(FFR—TH 1 4 5 &ih 3620806 K=F/N%=E 5 0 6 8 Fith 1
3620809(FFR—TH 1 4 6 &Fith 3620806 K=F/NZ=E 5 0 6 8 Fith 1
3620809(FFR—TH 1 5 0 &Fith 3620806 K=/N=E5 0 6 1% 3
3620809(FFR—TH 15 1 & 3620806 K=/N=E5 0 6 1% 3
3620809(FhR—TH 1 5 3 & 3620806 K=/NZ=E 5 0 6 1 &Fih
3620809(FFR—TH 1 5 3 & 3620806 K=F/NZE5 0 6 1 &1
3620809(FFR—TH 1 5 5 &ih 3620806 K=F/NZE 5 0 6 2 &Fith 1
3620809(FFR—TH 1 5 6 &Fith 3620806 K=F/NES5 2 9 4 Fih 1
3620809(FFR—TH 1 5 8 &Fith 3620806 K=/N=E5 0 6 1% 3
3620809(FFR—TH 1 5 9 &Fith 3620806 K=F/NZ=E 5 0 6 O &Fits
3620809(FFR—TH 1 6 1 & 3620806/ XF/N=E5 0 8 0 &Fift
3620809(FFR—TH 1 6 2 &ith 3620806 K=/NE5 0 7 6 &Fith 2
3620809(FFR—TH 1 6 6 &Fith 3620806 K=F/NE5 0 7 7 &Fith
3620809(FFR—TH 1 6 9 &Fith 3620806/ XF/N=E5 0 8 0 &Fift
3620809(FFR—TH 17 1 & 3620806/ KF/N=E9 7 8 6 &t 1
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3620809(FFR—TH 1 7 2 & 3620806| K=F/NEOQ 7 8 7 &Eith1 4
3620809(FhR—TH 1 7 3 & 3620806\ KF/NE 9 7 8 7 &Fith 1
3620809(FhR—TH 1 7 5 &ith 3620806/ KF/N=E9 7 8 6 &t 1
3620809(FFR—TH 1 7 6 &ith 3620806/ KF/N=E9 7 8 6 &l 1
3620809(FFR—TH 1 7 6 &ith 3620806\ KF/NE 9 7 8 7 &Fith 1
3620809(FhR—TH 17 7 &ith 3620806| KF/NE9 7 8 4 & 2
3620809(Fhk—TH 1 8 3 & 3620806/ KF/NE 9 7 8 4 Fih 1
3620809(FhR—TH 1 8 4 &Fith 3620806 K=/ 9 7 8 5 &HiHh 1
3620809(FFk—TH 1 8 6 &Fith 3620806| K=F/NZE9 7 8 5&i#M19
3620809(FFk—TH 1 8 8 &Fith 3620806| K=F/NZE9Q 7 8 5% 8
3620809(FFR—TH 1 9 0 &Fith 3620806 K=/ =9 7 8 5&FiMh 7
3620809(FFR—TH 1 9 2 &Fih 3620806| K=F/NE Q9 7 9 0&ith 6
3620809(FFR—TH 1 9 3 & 3620806 K=F/NZE9 7 9 O &Fih 1
3620809(FFR—TH 1 9 6 &Fith 3620806 K=F/NE9 7 9 4 FEiHh 1
3620809(FFR—TH 1 9 6 &Fith 3620806 K=F/NE9 7 9 4 FEiMh 3
3620809(FFR—TH 19 7 &Fith 3620806 K=F/NZE9 7 9 O &Fih 1
3620809(FhR—TH 1 9 8 &Fith 3620806 K=F/NE9 7 9 O & 2
3620809(FFR—TH 2 0 1 &ih 3620806| K=F/NZEQ 7 8 516
3620809(FhR—TH 2 0 5 &ith 3620806\ KF/N=E9 7 8 4 &Fih 4
3620809(FhR—TH 2 0 7 &Fith 3620806\ KF/N=E9 7 8 4 &Fih 7
3620809(FFR—TH 2 0 9 &Fith 3620806| KF/N=E9 7 8 4 &M 8
3620809(FhR—TH 2 1 1 & 3620806/ KF/NE 9 7 8 4 Fith 1
3620809(FhR—TH 2 1 3 & 3620806| K=F/NZE9Q 7 8 513
3620809(FFR—TH 2 1 5 &ih 3620806| K=F/NE9 7 8 5 &1 4
3620809(FhR—TH 2 1 7 &Fith 3620806| K=F/NZE9 7 8 5&FM S
3620809(FhR—TH 2 1 9 &Fith 3620806| KF/N=E9 7 8 9 &Fift
3620809(FFR—TH 2 2 2 &Fith 3620806 K=F/NZE9 7 9 8 Fith
3620809(FhR—TH 2 2 9 Fith 3620806 K=/N=E9 8 1 3&EHM 6
3620809(FhR—TH 2 3 1 &ih 3620806 K=/NZ=E9 8 1 3&FiMh 2
3620809(FFR—TH 2 3 4 &Fith 3620806 K=/ %= 9 8 O 1 & 3
3620809(FhR—TH 2 3 6 &Fith 3620806| KF/N=E9 7 8 9 &Fift
3620809(FhR—TH 2 3 6 &Fith 3620806 K=F/NE9 7 9 6 &Fith
3620809(FhR—TH 2 3 9 &Fith 3620806 K=F/N%=E 9 8 0 4 &EHM 5
3620809(FhR—TH 2 4 2 &ih 3620806 K=F/NE 9 8 0 4 FEith 4
3620809(FFR—TH 2 4 4 &Fith 3620806(K=F/NZE 9 8 O 3 & 1
3620809(FFR—TH 2 4 5 &ith 3620806 K=/ 9 8 O 3 & 3
3620809(FFR—TH 2 4 5 &ih 3620806 K=F/ = 9 8 0 3&Fih 4
3620809(FhR—TH 2 4 7 &Fith 3620806\ XF/N=E9 8 0 7 &Fith
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3620809(FFR—TH 2 4 9 Fith 3620806 K=F/NZE9 7 4 3FEHM 1
3620809\ R—TH 2 5 0 &ift 3620806 K=F/NZE9 7 4 3FEHM 1
3620809(FFR—TH 2 5 1 &ih 3620806 K=F/NE9 7 4 3FEH 1
3620809\ R—TH 2 5 2 &ift 3620806 K=F/NE 9 8 2 6 FEith 4
3620809(FhR—TH 2 5 3 & 3620806\ XF/N=E 9 8 0 6 &Fith
3620809(FhR—TH 2 5 8 &Fith 3620806 K=F/NEQ 7 4 4 Fih
3620809(FFR—TH 2 6 1 & 3620806 K=F/NEQ 7 4 4 Fih
3620809(FFR—TH 2 6 2 &Fith 3620806\ XF/N=E 9 8 0 5 &Fifh
3620809(FhR—TH 2 6 3 &Fih 3620806\ XF/N=E 9 8 0 5 &Fith
3620809(FhR—TH 2 6 3 &ith 3620806\ XF/N=E 9 8 0 6 &Fith
3620809(FFR—TH 2 6 4 &Fith 3620806\ XF/N=E 9 8 0 6 &Fith
3620809(FFR—TH 2 6 6 &Fith 3620806| KF/N=E9 7 8 2 &M 2
3620809(FFR—TH 2 6 9 &Fith 3620806 K=F/NEE9 7 9 1 &M 1
3620809(FhR—TH 2 7 0 &Fith 3620806 K=F/NZE9 7 9 2 FEiHh 1
3620809(FhR—TH 2 7 4 Fith 3620806 K=F/NE9 7 9 3&EM 6
3620809(FhR—TH 2 7 6 &Fith 3620806/ KF/N=E9 7 5 0 & 1
3620809(FhR—TH 2 7 8 Fith 3620806| KF/NE9 7 5 2 Fih 1
3620809(FhR—TH 2 7 9 &Fith 3620806/ KF/NE9 7 5 2 i 1
3620809\ R—TH 2 8 0 &ift 3620806\ KF/N=E9 7 8 1 &ith 1
3620809(Fhk—TH 2 8 1 &ih 3620806| KF/N=E9 7 8 2FM 5
3620809(Fhk—TH 2 8 3 &Fith 3620806| KF/N=E9 7 8 2 &M 3
3620809(Fhk—TH 2 8 6 &Fith 3620806/ KXF/N=5 0 8 0 &Fift
3620809(Fhk—TH 2 8 7 &Fith 3620806/ KXF/N=E5 0 8 0 &Fift
3620809(Fhk—TH 2 8 8 &Fith 3620806 K=F/NEQ 7 7 2 &EiMh
3620809(FhR—TH 2 8 9 &Fith 3620806 K=/ 9 7 7 3 &M 1
3620809(FhR—TH 2 9 0 &Fith 3620806 K=F/N=E9 7 7 3F&FM 3
3620809(FFR—TH 2 9 2 &Fith 3620806 K=F/hNE9Q 7 7 3F&FM 2
3620809(FhR—TH 2 9 4 &Fith 3620806 K=F/NEE9 7 7 5 &EH 1
3620809(FhR—TH 2 9 5 &ith 3620806 K=/ 9 7 8 3 & 1
3620809(FFR—TH 2 9 6 &Fith 3620806/ KF/N=E9 7 8 0 &t 1
3620809(FhR—TH 2 9 7 &Fith 3620806 K=F/NEQ 7 7 4 &Eih
3620809(FhR—TH 2 9 8 &Fith 3620806 K=F/NEQ 7 7 4 &Eih
3620809(FFR—TH 2 9 9 &Fith 3620806 K=F/NE 9 7 6 6 &t 2
3620809(Fhk—TH 3 0 0 &Fith 3620806 K=F/NE9Q 7 6 7 &Fih 2
3620809(FFk—TH 3 0 1 &ith 3620806 K=F/NEE9 7 7 O &EiHh 1
3620809(FFR—TH 3 0 2 &Fith 3620806 K=F/NE9Q 7 6 7 &Fith 2
3620809(Fhk—TH 3 0 2 &Fith 3620806 K=/ 9 7 7 O & 1
3620809(Fhk—TH 3 0 3 &Fith 3620806 K=F/NEQ 7 7 2 &EiMh
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3620809|h—TH 3 1 0 &Fith 3620806| K=F/NE5 0 6 7 &Hith 2
3620809|h—TH 3 1 1% 3620806| K=F/NE 5 O 6 6 &Hith 2
3620809|h—TH 3 1 2%t 3620806| K=F/NE 5 O 6 6 &Hith 2
3620809|h—TH 3 1 4 Fith 3620806| K=F/NE50 7 1&ih 3
3620809|h—TH 3 1 5&ith 3620806| K=F/NE50 7 1&ih 5
3620809|h—TH 3 1 6 Fith 3620806| K=F/NES50 7 1&ih 6
3620809|h—TH 3 1 7 Fith 3620806 K=F/NE5 O 8 6 Fith 1
3620809|h—TH 3 1 7 Fith 3620806| K=F/NE 5 0 8 7 Fith 1
3620809|—TH 3 2 0 Fith 3620806| K=F/NE 5 0 6 4 Fih 1
3620809|h—TH 3 2 1 &t 3620806| K=F/NE 5 0 6 5 & 1
3620809|h =T B 1 Fith 3620806| K=F/NE 9 9 1 9&Fith 4
3620809|h =T B 7 Fith 3620806| K=F/NEQ 9 1 9&ih 2
3620809|ch T B 8 &Fith 3620806| K=F/NEQ 9 1 9&ih 2
3620809|h =T B O &Fith 3620806| K=F/NEQ 9 1 9&ih 2
3620809 =T H 1 O &Fith 3620806| K=F/NE 9 9 1 9 Fih 1
3620809 =T H 1 3 &Fith 3620806| K=F/N=E 9 9 1 9 Fith
3620809 =T H 1 4 &Fith 3620806 K=F/NZE1 00 3 4 Fih1
3620809 =T H 1 5 &Fith 3620806| K=F/NE=E Q9 9 1 8&ith 2
3620809(th =T H 1 7 Hith 3620806| kF/NEQ 9 17&FH 10
3620809 =T H 1 8 Fith 3620806| K=F/NEQ9 9 1 7&ih 2
3620809(th =T H 1 9 Hith 3620806| kF/NEQ 9 17&FH 10
3620809 =T H 2 O &Fith 3620806| K=F/NE9 9 1 7 FHh 1
3620809 =T H 2 1 &Fith 3620806| K=F/N=E 9 9 1 7 &Hith
3620809 =T H 2 1 &Fith 3620806| K=F/NE9 9 1 7 FHh 1
3620809 =T H 2 1 &Fih 3620806| K=F/NE9 9 1 7F&HH 4
3620809 =T H 2 3 &Fith 3620806| K=F/NE Q9 9 1 8&ith 7
3620809 —TH 2 6 &Fith 3620806( K=F/NZEQ99 1 8&FEH10
3620809 =T H 2 9 &Fith 3620806| K=F/NE9 9 1 6FEH 2
3620809 =T H 3 1 &Fith 3620806| K=F/NEQ 9 1 5&ith 2
3620809 —TH 3 3 &Fith 3620806| K=F/NE 9 9 1 5 & 1
3620809 —TH 3 4 &Fith 3620806| K=F/NE Q9 9 1 5&ih 8
3620809 =T H 3 5 &Fith 3620806| K=F/NEQ 9 1 5&ih 7
36208094 —TH 3 6 &Fith 3620806| K=F/NEQ9 9 1 5&ih 6
3620809 —TH 3 8 &Fith 3620806| K=F/NEQ9 9 1 6 &S
36208094 —TH 4 6 &Fith 3620806| K=F/NEQ 9 1 4 Fih 1
36208094 —TH 4 6 &Fith 3620806| K=F/NEQ 9 1 4&ih S
3620809 | =T H 4 7 Fith 3620806| K=F/NE9 9 1 3&Fih 4
3620809 =T H 4 9 &Fith 3620806| K=F/NE 9 9 1 3&Fih 4

6 /21 "—2



#FIBERT R (FHERTIR)

HEESES #FERT IHEMEERS |B4ERR
3620809(F R —TH 5 0 &Fith 3620806 K=F/NZE9 9 1 3&FEH 1
3620809(F R —TH 5 1 &Fith 3620806| K=F/NZE9 9 1 3&FiH#M1 2
3620809(F R —TH 5 3 &Fith 3620806 K=/N%=E9 9 1 3&EHM 3
3620809(F R _TH 5 4 Fith 3620806 K=/N%=E9 9 1 3&EHM 3
3620809(F R —TH 5 5 &Fith 3620806 K=F/N%=E9 9 1 3&EM 3
3620809(F R —TH 5 9 &Fith 3620806 K=F/NE 9 9 1 4 Fih
3620809(F R —TH 5 9 &Fith 3620806 K=F/NE9 9 1 4 &M 2
3620809(F R _TH 6 1&Fith 3620806 K=F/NZE9 9 1 1 &M 1

3620809

PRZTH7 0&FH

3620806

KFINEO 86 2FM?2

3620809

FRRZTH7 3%

3620803

KFKEH7 8 3&FM 3

3620809

FRRZTH7 5%

3620803

KFKEH7 8 3FM 4

3620809

HRZTH7 6&H

3620803

KFKEH7 8 3FM 4

3620809\ =T H 7 7 Fith 3620803| KFKt7 8 3&FEM 4
3620809(F R —TH 7 8 &Fith 3620803| KFK#t7 8 3&FEM 2
3620809(F R —TH 8 0 &Fith 3620803 K=F K&t 7 8 4 ZFith

3620809

FRZTHS8 2%&ih

3620803

KEFEKEH7 8 4 &Fih

3620809

FR"THS8 3&Fi

3620803

KFEKEH7 8 4 Fith

3620809

FRZTH S8 4%&ih

3620803

KEFEKEH7 8 4 &Fith

3620809

FR”THS8 5&Fith

3620803

KFEKEH7 8 4 Fith

3620809(F R —TH 8 6 &Fith 3620803 K=F K&t 7 8 4 ZFith
3620809(F R —TH 8 7 &Fith 3620803 K=F K&t 7 8 4 ZFith
3620809(H R —TH 8 8 &Fith 3620803 K=F K&t 7 8 4 ZFith

3620809

FRZTHS8 9&ih

3620803

KFEKREH7 8 0FH 4

3620809

RRZTHO9 0FEM

3620803

KEKEH7 8 0FH 4

3620809

PRZTHO 15

3620803

KEKEH7 8 0FH 7

3620809

PRZTHO9 2%

3620803

KFEKXKE780FM1M)2

3620809| L -TH 9 4 Fith 3620803 K=F K&t 7 8 2 Zih 1
3620809| L -TH 9 4 Fith 3620803( K=F K&t 7 8 2 &M 4
3620809(F R —TH 9 4 Fith 3620803| KFK#t7 8 3&FEM 2

3620809

FRZTHO95&EH

3620803

KFKRE7 7 9B 2

3620809

FRZTHO95&EH

3620803

KFEKXE780FM1M)2

3620809

PRZTHO9 6 &M

3620803

KFKREH7 7 6 8 1

3620809

PRZTHO9 6 &M

3620803

KFKRE7 7 9B 2

3620809| L -—TH9 7 Fith 3620803| KF Kt 7 7 6 &Fifh 1
3620809(F R —TH 9 7 &Fith 3620803| KFKEt7 7 9 &M 2
3620809|h LT H 9 8 &Fith 3620803| KFKEt7 7 7 &Fih 1

3620809

PRZTHO9 9&HEM

3620803

KFEKEH7 7 8 Fih

3620809

FRTZTH10O0EM

3620803

KFKREH7 7 0 &t

1/ 21 "=

FH2E11821H




FIRERTRER (FriERTIE) - SH25F11A218

HEESES #FERT IHEMEERS |B4ERR
3620809|F L -TH 1 0 0 Fith 3620803 K=FK£t7 8 0&FM 1D 2
3620809| L "TH 1 0 5%t 3620803 K=F K&t 7 8 1 Z&ih 1
3620809| L -"TH 10 7 &Fith 3620803| KF K&t 7 7 9 &Fith
3620809|F L =TH 1 0 9 Fith 3620803| KFKt7 7 3&EM 6
3620809| L =TH 1 0 9 Fith 3620803| KFK&t7 7 3&FM 7
3620809| L -TH 1 1 0&it 3620803| KFK&t7 7 3&FEM 7
3620809|FRL-TH 1 1 1% 3620803| KFKt7 7 3&FEM 2
3620809|FRLZ-TH 1 1 1% 3620803| KFKt7 7 3&EM 6
3620809|FFRL-TH 1 1 4% 3620803| KFKt7 7 3&FEM S
3620809| L ="TH 1 1 5%&ith 3620803| KFKt7 7 3&FEM S
3620809| L -TH 1 1 6%t 3620803| KFKt7 7 3&FEM 9
3620809|RL-TH 1 1 7% 3620803| KFXEt7 7 3&HM 10
3620809|F L -—TH 1 1 9%t 3620806\ KF/N=E9 8 6 1 &M 2
3620809|FFRL-TH 1 2 1%t 3620806\ KXF/N=E9 8 6 O &Fith 2
3620809|F L -TH 1 2 2%t 3620806/ KF/N=E9 8 5 9 & 3
3620809|h L -TH 1 2 3%t 3620806\ KXF/N=E9 8 5 9 &Fith 4
3620809|h L -TH 1 2 5%&ith 3620806| KF/N=E9 8 5 2 &Fih 4
3620809|F L =TH 1 2 9 Fith 3620806 K=/N%=E9 8 5 1 &HHM 5
3620809| L -TH 1 3 2%t 3620806/ KF/N=E9 8 5 0 it 1
3620809| L -TH 1 3 3%t 3620806/ KF/N=9 8 5 0 &t 3
3620809| L "TH 1 3 4 Fith 3620806\ KF/N=E 9 8 4 9 Fifh
3620809| L "TH 1 3 6 Fith 3620806 K=F/NZE 9 8 4 9 Fith 1
3620809| L =—TH 1 3 7 &Fith 3620806 K=F/N%E 9 8 5 3 & 1
3620809| L -TH 1 3 9 Fith 3620806/ KXF/N=E 9 8 5 4 Fift
3620809| L "TH 1 4 0Fith 3620806\ KF/N=E9 8 5 1 &Fifh 1
3620809|FF L "TH 1 4 2%t 3620806/ KXF/N=E9 8 5 6 &t 1
3620809|Fh L "TH 1 4 4 Fith 3620806/ KF/N=E9 8 5 6 & 3
3620809| L -TH 1 4 8 Fith 3620806\ XF/N=E 9 8 6 O &Fith
3620809| L -TH 1 5 3%t 3620806 K=F/N%E 9 8 4 3&EM 5
3620809| L "TH 1 5 4 Fith 3620806 K=/ 9 8 4 3&EM 5
3620809| L -TH 1 5 5%&ith 3620806 K=F/NZE 9 8 4 5 &HEiHh 1
3620809| L "TH 1 6 2%t 3620806\ KF/N=E9 8 3 7 &Fifh 1
3620809|F L -TH 1 6 3%t 3620806\ KF/N=E9 8 3 7 &Fifh 1
3620809| L "TH 1 6 4 Fith 3620806\ KF/N=E9 8 3 7 &Fifh 1
3620809|F L "TH 1 6 5%t 3620806\ KF/N=E9 8 3 7 &Fifh 1
3620809|F L "TH 1 6 6 &Fith 3620806 K=/ 9 8 3 8 Fith 1
3620809| L "TH 1 6 8 &Fith 3620806 K=/ 9 8 3 7 &EHM1 5
3620809| L "TH 1 6 9 &Fith 3620806/ KF/N=E9 8 3 2 &Fift
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#FIBERT R (FHERTIR)

HEESES #FERT IHEMEERS |B4ERR
3620809|h L =—TH 1 7 3%&ith 3620806 K=F/NZE 9 8 3 3 & 1
3620809|Fh L =—TH 1 7 5&ith 3620806/ KF/N=E 9 8 3 4 Fith 1
3620809|Fh =T H 17 7 &Fith 3620806 K=/N=E 9 8 3 5 &t 2
3620809| L "TH 1 8 2%t 3620806 K=F/NZE 9 8 3 5 & 1
3620809|F L "TH 1 8 4 Fith 3620806 K=F/NZE 9 8 1 9 &Fith 1
3620809| L "TH 1 8 6 Fith 3620806\ XF/N=E 9 8 2 O &Fith
3620809| L -TH 1 8 8 Fith 3620806 K=/ =9 8 2 O Fith 7
3620809| L =TH 1 8 9 Fith 3620806 K=F/N%=E9 8 2 O &M 5
3620809|F L -TH 19 2%t 3620806\ XF/N=E9 8 2 1 &Fifh
3620809| L =TH 1 9 3%t 3620806 K=F/N%E9 8 1 6 &M 5
3620809|F L =TH 1 9 4 Fith 3620806 K=F/N%=E9 8 1 6 &FM 5
3620809| L -TH 1 9 6 #Fith 3620806\ KF/N=E9 8 1 7 &Fith
3620809| L -TH 1 9 8 Fith 3620806 K=/ 9 8 1 8 &t 3
3620809| L =T H 2 0 0 Fith 3620806\ KXF/N=E 9 8 2 3 &Fith
3620809|FFL-TH2 1 1% 3620806/ KF/NE 9 7 3 4 Fih 1
3620809|Fh LT H2 1 7 &Fith 3620806/ KF/N=E9 7 3 2 & 1
3620809|h L "TH 2 1 8 Fith 3620806| K=F/NZE9 7 3 1 &M S
3620809| L -TH 2 2 0 Fith 3620803| KF Kt 7 6 0 &Fifh 1
3620809|F L "TH 2 2 4 Fith 3620803| KFKt7 6 O &M 2
3620809| L "TH 2 2 6 Fith 3620806 K=F/NZE 9 8 2 9 Fith 1
3620809| L -TH 2 2 8 Fith 3620806\ KF/N=E9 8 3 1 &Fith
3620809|Fh L "TH 2 3 2%t 3620806/ KXF/N=E9 8 3 9 Fift
3620809| L -TH 2 3 3#Fith 3620806 K=F/NE 9 8 4 O &M 4
3620809|F L "TH 2 3 4 Fith 3620806 K=F/N%E 9 8 4 O &M 6
3620809| L -TH 2 3 5#&Fith 3620806 K=F/NE 9 8 4 O Fith 7
3620809| L "TH 2 3 6 Fith 3620806 K=F/NE 9 8 4 O &M 4
3620809|Fh L -TH 2 3 7 &Fith 3620806 K=/ 9 8 4 O &t 3
3620809|F L "TH 2 4 8 Fith 3620806 K=F/NZE 9 8 4 2 &1 8
3620809|F L "TH 2 4 9 Fith 3620806 K=F/NE O 8 4 2 Fih 7
3620809| L -TH 2 5 0 Fith 3620806 K=F/NZE 9 8 4 2 Fih 1
3620809|h L "TH 2 5 2 Fith 3620806 K=F/NE 9O 8 4 2 & 2
3620809| L -TH 2 5 3 #&Fith 3620806 K=F/N=E 9 8 4 1 &M 3
3620809| L "TH 2 5 5 #&Fith 3620806 K=F/N%=E 9 8 4 1 &2
3620809| L "TH 2 5 6 Fith 3620806 K=F/NZE 9 8 4 7 Fith 1
3620809|Fh L "TH 2 5 7 &Fith 3620806 K=F/NZE 9 8 4 8 Fith 1
3620809| L -TH 2 5 9 Fith 3620806 K=F/NZE 9 8 4 8 Fith 1
3620809| L "TH 2 6 2%t 3620803| KFK$t7 6 3&FEM S5
3620809| L "TH 2 6 8 Fith 3620803| KF Kt 7 7 2 &Fih 1
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HEESES

#ERT

IHEMEERS

|B{EFR

3620809

hRIZTH2 7 0%

3620803

KFEKXKE7 7 2FHh 3

3620809

hR-IZTH2 7 2%

3620803

KFKREH7 7 287

3620809

FRIZTH2 7 4%

3620803

KFEKXKE7 7 285

3620809

hR-ZTH2 7 5%

3620803

RFKREt77 284

3620809

hRTZTH?2 7 6%t

3620803

KFKEH7 7 3Fh 2

3620809|Fh L -TH 2 7 9 Fith 3620803| KFKEt7 7 5 &M O
3620809| L -TH 2 8 3 #&ith 3620803| KFK&t7 7 5 &M 7
3620809|F L "TH 2 8 4 Fith 3620803| KFKEt7 7 5 &M 6

3620809

hR—"TH?2 8 6&Fih

3620803

KFXKEH7 7 5&H 5

3620809

hR_"TH?2 8 8&ifh

3620803

KFEKXKEH7 7 553

3620809

hR"TH28 9&Fih

3620803

KFKREH7 7 15

3620809

FRTZTH29 0&EiH

3620803

KFKEH7 6 4 Fih 1

3620809| =T H 2 9 0 Fith 3620803| KFK£t7 6 5 &Fith
3620809| L -TH 2 9 1%&ith 3620803| KFK$t7 6 6 &Fifh 3
3620809|F L -TH 2 9 2 %Fith 3620803| KFK$t7 6 4 Fith 3
3620809|F =T H 2 9 9 Fith 3620803| KFKEt7 7 5&M2 0
3620809| L -TH 3 0 1%t 3620803| KFKEt7 7 5&M 1 9
3620809| L =TH 3 0 3%&ith 3620803| KFKt7 7 5&M 1 8
3620809|F L =T H 3 0 5#&ith 3620803| KFKEt7 7 &M 1 7
3620809| L -TH 3 0 6 Fith 3620803| KFXEt7 7 5&HM 10
3620809| L =TH 3 0 7 &Fith 3620803| KFKEt7 7 5 &M 1 1
3620809| =T H 3 0 9 Fith 3620803| KFK#t7 7 5 &M 1 3
3620809| L "TH 3 1 2%t 3620803| KFK$t7 7 5&M 15
3620809| L "TH 3 1 6%t 3620803| KFKt7 7 6 HFith 3
3620809| L -TH 3 1 7Fith 3620803| KFKEt7 7 6 Fih 2
3620809| L "TH 3 1 8 Fith 3620803| KFKt7 7 6 &Fith 3
3620809| L -TH 3 1 9Fith 3620803| KFKEt7 7 5&M 2 4
3620809| L -TH 3 2 1%t 3620803| KFKt7 7 5&M 2 2
3620809|F L "TH 3 2 4 Fith 3620803| KFKEt7 7 0 &Fith

3620809

FRZTHS3 2 5%

3620803

KFKEH7 7 0 &

3620809

FR-THS3 2 8&ih

3620803

KFKEt7 6 6 & 1

3620809

FR-THS33 1&Ei

3620803

KFEKEH7 6 5FH

3620809

FR-THS3 3 2%Fi

3620803

KFEKEH7 6 8 Fih

3620809|HR_"TH 3 3 2%t 3620803| KFKEt7 6 9 &Fith
3620809|HR_TH 3 3 3%t 3620803| KF Kt 7 6 7 &Fifh 1
3620809|HR_TH 3 3 6 &t 3620803| KFK#t7 5 3&FEM 4

3620809

FR-THS337&Fi

3620803

KFKE7 5 3FM4

3620809

FR-THS3 3 8&ih

3620803

KFEKEH7 30FMHS
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HEESES #FERT IHEMEERS |B4ERR
3620809| L "TH 3 4 0 Fith 3620803 K=FK#t7 3 O &M 5
3620809| L "TH 3 4 1%t 3620803 K=F K%t 7 3 O &M 5
3620809| L "TH 3 4 3%t 3620803 K=F K&t 7 3 O &Fith 2
3620809| L "TH 3 4 4 Fith 3620803 K=F K&t 7 3 O &Fih 1
3620809| L "TH 3 4 5%&Fith 3620803 K=F K&t 7 3 O FEith
3620809| L "TH 3 4 6 Fith 3620803 K=FK&t7 3 1 &M 10
3620809|h L "TH 3 4 7 Fith 3620803 K=FK&t7 3 1 &M 2
3620809| L "TH 3 4 9 Fith 3620803| KFK$t7 5 3&FEM 2
3620809| L -TH 3 5 1%&ith 3620803 K=F K&t 7 5 O Zih 1
3620809| L "TH 3 5 1%t 3620803| KFK$t7 5 5 &ith
3620809| L "TH 3 5 2 it 3620803 K=F K&t 7 5 7 ZFith 1
3620809| L -TH 3 5 3 &Fith 3620803 K=F K&t 7 5 7 ZFith 1
3620809| L "TH 3 5 4 Fith 3620803 K=F K&t 7 5 6 ZFih 1
3620809| L -TH 3 5 5 #&ith 3620803| KF K&t 7 2 9 Fifh 1
3620809(FFR=T H 2 Fith 3620806 K=/ 9 7 3 3 &M 2
3620809(FFR=T H 5 Fith 3620806/ KF/N=E9 7 3 0 & 1
3620809(FFR=T H 6 Fith 3620806/ KF/N=E9 7 3 0 &t 1
3620809(FFR=T H 9 Fith 3620806/ KF/N=E9 7 3 0 & 1
3620809|HFR=TH 1 1%t 3620806| K=F/NEQ9 7 29FH 10
3620809|HFR=TH 1 2% 3620806| K=F/NEQ9 7 29FH 10
3620809|FR=TH 1 3 &Fifh 3620806 K=F/NE9 7 2 9&EHM 9
3620809|HFR=THE 1 4 Fih 3620806 K=F/NE9 7 2 9 &t 8
3620809|HFR=TH 2 1 &t 3620803| KF K&t 7 4 2 &ih
3620809|HFR=TH 2 2 #Fifh 3620803| KF K&t 7 4 2 &Fih
3620809|HFR=TH 2 3 #Fith 3620803| KF K&t 7 4 2 &Fih
3620809|HFR=TH 2 4 Fith 3620803| KFKEt7 4 3&FM
3620809|HFR=THE 2 6 #Fifh 3620803| KFKEt7 4 6 &Fith
3620809|HFR=TH 2 8 #Fifh 3620803| KFK&t7 3 8 &M 7
3620809|HFR=TH 2 9 #Fifh 3620803| KFK$t7 3 8 &M 6
3620809|FR=TH 3 0 #Fith 3620803| KFKEt7 4 4 &FEM 2
3620809|HFR=TH 3 1 &Fifh 3620803| KFKEt7 4 4 &HEM 2
3620809|HFR=TH 3 7 #Fith 3620803| KFKEt7 4 1 &
3620809|FR=TH 3 8 #Fifh 3620803| KF K&t 7 4 2 &Fih
3620809|FR=THE 5 0 ZFith 3620803 K=FK#t 4 8 2 &3 3
3620809|HFR=THE 5 1 & 3620803 K=FK£t 4 8 2 &3 3
3620809|FR=THE 5 2 #Fifh 3620803 K=F K&t 4 8 2 ZFih 1
3620809|HFR=THE 5 6 #Fifh 3620803| KFK#t4 8 3&FM 8
3620809|HFR=THE 5 7 #Fith 3620803 K=FK£t4 8 6 &M 5
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#FIBERT R (FHERTIR)

HEESES #FERT IHEMEERS |B4ERR
3620809|HFR=THE 5 8 #Fith 3620803 K=F K&t 4 8 6 ZEith 1
3620809|HFR=TH 5 9 #Fith 3620803| KFK#t 4 8 5 &Fifh 1
3620809|HFR=TH 6 1 &t 3620803| KF Kt 4 7 8 & 3
3620809|HFR=TH 6 2 #Fifh 3620803| KFKEt 4 7 8 &Fifh 1
3620809|HFR=TH 6 3 #Fifh 3620803| K=F K&t 4 8 4 ZFEith
3620809|HFR=THE 6 4 ZFifh 3620803| KF K&t 4 7 9 &Fifh 1
3620809|HFR=TH 6 7 ZFifh 3620803| KF K&t 4 7 9 &Fifh 1
3620809|HFR=TH 7 0 #Fith 3620803| K=F K&t 4 8 4 ZFEith
3620809|HFR=TH 7 3 %Fifh 3620803 K=F K&t 4 8 4 FEith
3620809|HFR=TH 7 7 it 3620803| KF K&t 4 7 9 &Fifh 1
3620809|R=TH 8 0 Ftith 3620803| KFKEt4 6 7 &4
3620809|FR=TH 8 2 #Fifh 3620803| KF Kt 4 6 8 & 4
3620809|R=THE 8 5 #Fith 3620803| KF Kt 4 7 0 &t 1
3620809|HFR=TH 8 7 #Fifh 3620803 K=FK£t4 8 O &M 5
3620809|R=THE 8 8 #Fifth 3620803 K=FK#t4 8 O &M 5
3620809|R=TH 8 9 #Fith 3620803| KF K&t 4 7 0 &Fih 1
3620809|HFR=TH 9 0 #Ftith 3620803| KF K&t 4 7 0 &t 1
3620809|HFR=TH 9 1%t 3620803| KFKEt 4 6 9 Fifh 1
3620809|HFR=TH 9 3 #Fifh 3620803| KFKEt4 6 7 &4
3620809|HFR=TH 9 4 Fith 3620803| KFK#t 4 6 8 &Fifh 1
3620809|HFR=TH 9 8 #Fith 3620806 K=F/NEE9 7 2 8 Fith 1
3620809|HFR=THE 10 1% 3620806 K=F/NEQ 7 2 7 &Fih
3620809|HFR=THE 1 0 2%t 3620806 K=F/NE 9 7 2 5 &HiMh
3620809|FR=THE 1 0 3%t 3620806 K=F/NEQ 7 2 4 Fih
3620809|HFR=THE 10 4 &it 3620806 K=F/NEQ 7 2 2 Fih
3620809|HFR=THE 1 0 5&its 3620806 K=F/NEQ 7 2 2 Fih
3620809|HFR=THE 1 0 6 &t 3620806/ KXF/N=E9 6 8 6 &Fift
3620809|HFR=THE 1 0 8 it 3620806 K=F/N=E 9 6 8 5 &Fith
3620809|HFR=TH 1 1 1% 3620806| K=F/NZE9 6 8 7 &1 3
3620809|HFR=THE 1 1 2% 3620806| K=F/NZE9 6 8 7 &Fi#h1 3
3620809|HFR=THE 1 1 4% 3620806 K=F/NE9 7 2 1 &
3620809|HFR=THE 1 1 5%t 3620806 K=F/NE9 7 2 3 &M
3620809|HFR=THE 1 1 6 &t 3620806 K=F/NE 9 7 2 3 &M
3620809|HFR=TH 1 1 7 & 3620806 K=F/NE9 7 2 3 &M
3620809|HFR=TH 1 1 9&i 3620806 K=F/NE9 7 2 6 Fith
3620809|HFR=TH 12 1% 3620806 K=F/NE9 7 2 6 Fith
3620809|HFR=TH 1 2 3% 3620806 K=F/NE9 7 2 6 &Fith
3620809|HFR=TH 1 2 5 & 3620806 K=F/NEQ 7 2 7 &Fith

12 / 21 R—2

FH2E11821H




#FIBERT R (FHERTIR)

HEESES #FERT IHEMEERS |B4ERR
3620809|HFR=THE 1 2 6 &its 3620806 K=F/NEQ 7 2 7 &Fith
3620809|HFR=TH 12 7 & 3620806 K=F/NEQ 7 2 7 &Fith
3620809|HFR=TH 1 2 9&i 3620806/ KXF/N=E9 6 8 2 Fift
3620809|HFR=TH 1 3 0 &itt 3620806\ XF/N=E9 6 8 1 &Fith
3620809|HFR=TH 1 3 2%t 3620806\ XF/N=E9 6 8 1 &Fith
3620809|HFR=TH 1 3 5&its 3620806 K=F/NZE 9 6 7 9 Fith 1
3620809|HFR=TH 1 3 5&its 3620803| KFKEt 4 4 8 &Fith
3620809|HFR=THE 1 3 6 &its 3620803 K=FK#t 4 5 O Fith 2
3620809|HFR=TH 1 3 7 &ith 3620803| K=F K&t 4 5 1 ZFih
3620809|HFR=TH 1 3 8 it 3620803 K=FK£t 4 5 0 Fith 2
3620809|HFR=TH 1 3 9 &it 3620803 K=F K&t 4 5 O ZFih 1
3620809|HFR=THE 1 4 0 &t 3620803 K=F K&t 4 5 1 Z&ih 1
3620809|HFR=THE 1 4 3% 3620803| K=F Kt 4 5 1 &M 2
3620809|HFR=TE 1 4 4% 3620803| KF K&t 4 4 7 &Fih
3620809|HFR=THE 1 4 6 &it 3620803| KF K&t 4 4 7 &Fith
3620809|HFR=THE 1 4 6 &it 3620803| KFKEt 4 4 8 &Fith
3620809|HFR=THE 14 7% 3620806 K=F/NE 9 6 7 8 Fits
3620809|HFR=THE 1 4 8%t 3620806 K=F/NE 9 6 7 8 Fith
3620809|HFR=THE 1 4 9&it 3620806 K=F/NE 9 6 7 8 Fits
3620809|HFR=THE 1 5 0%t 3620806 K=F/NE 9 6 7 8 Fits
3620809(hR=TH 15 2 &Fih 3620806 K=F/NE9 6 7 9&EM 6
3620809|HFR=THE 15 7 &it 3620806| KF/N=E9 6 8 2 Fift
3620809|HFR=THE 16 1% 3620803| KFK£t 4 6 6 &Fith
3620809|HFR=THE 16 2%t 3620803| KFK£t 4 6 5 &Fith
3620809|HFR=THE 16 2%t 3620803| KF K&t 4 7 1 &
3620809|HFR=THE 1 6 3%t 3620803| KF K&t 4 7 1 &
3620809|HFR=THE 1 6 5%t 3620803| KFKEt 4 6 1 &
3620809|HFR=THE 1 6 6 &t 3620803| KFKEt 4 6 1 &
3620809|HFR=THE 1 6 9&it 3620803| KFKEt 4 6 4 Fith
3620809|HFR=TH 17 0%t 3620803| KFK£t 4 6 5 &Fith
3620809|HFR=TH 17 1% 3620803| KFK£t 4 6 5 &Fith
3620809|HFR=TH 17 4% 3620803| KF K&t 4 7 1 &
3620809|HFR=TH 17 5%&it 3620803| KFKEt 4 7 3&FMh
3620809|HFR=TH 17 8%t 3620803| KF K&t 4 7 1 &
3620809|HFR=TH 1 8 0 &itt 3620803| KF K&t 4 7 3 &M
3620809|HFR=THE 18 1% 3620803| KF K&t 4 7 2 &Fih
3620809|HFR=THE 18 2%t 3620803| KF K&t 4 7 3&FM
3620809|HFR=TH 1 8 3%t 3620803| KF K&t 4 7 2 &Fih

13 /21 R—2

FH2E11821H




#FIBERT R (FHERTIR)
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3620809

hR=TH1 8 4%ith

3620803

KFKEt4 7 3FM

3620809

FR=TH18 5%

3620803

KFKREt4 7 28

3620809

hR=TH18 7%

3620803

KFKXKEH4 5 6 Fih

3620809

FR=TH18 8&Fi

3620803

KFEKEH4 5 6 Fih 1

3620809

hR=TH1 8 9%Fith

3620803

KEKEH4 7 1 FH

3620809|HFR=THE 19 0%t 3620803| KF K&t 4 7 1 &
3620809|HFR=TH 19 1% 3620803| KFKEt4 7 9FM 2
3620809|FRL=TH 1 9 4 Fith 3620803| KF Kt 4 7 6 &Fifh 1

3620809

FR=TH20 2%

3620803

KFEKEH4 5 2FH# 2

3620809

FR=TH20 5%

3620803

KFKREt4 4 68 1

3620809

FR=TH20 6%

3620803

KEKEH4 5 2 Fih 1

3620809

FR=TH207&i

3620803

KFEKREH4 5 0FHh 1

3620809|HFR=TH 2 0 8 &it: 3620803| KFKEt4 7 4 & 4
3620809|HFR=TH 2 0 9 it 3620803| KF Kt 4 7 4 &M 3
3620809|HFR=TH 2 1 8 &t 3620803| KFKEt 4 4 6 &Fih 1

3620809

FR=TH2 1 9%

3620803

KFEKEH 4 4 55 1

3620809

FR=TH22 4%

3620803

KFEKEH4 3 1FEHS

3620809

PR=TH227&i

3620803

KEKREH4 3 1FH 1

3620809

FR=TH2 2 8%t

3620803

KFEKEH 4 4 35 1

3620809|HFR=TH 2 2 9 &it 3620803| KFKEt 4 4 3 &M 1
3620809|HFR=TH 2 3 0 &itt 3620803| KF K&t 4 4 4 Fih 1
3620809|HFR=TH 2 3 1%t 3620803| KF K&t 4 4 4 Fih 1

3620809

hR=TH2 3 2%ith

3620803

KRFKEH4 4 4 FH 3

3620809

FR=TH?2 3 3&FiH

3620806

KFINEO 6 6 8FM4

3620809

hR=TH2 3 4&Fi

3620803

KFKEt 4 3 8 Fith

3620809

FR=TH?23 5%

3620803

KFKEt 4 3 8 Fith

3620809|HFR=TH 2 3 6 it 3620803 K=F K&t 4 3 6 FEith
3620809|HFR=TH 2 3 8 &t 3620803| KF Kt 4 4 3&FEM 2
3620809|HFR=TH 2 4 1% 3620803| KF Kt 4 3 3&FM 2

3620809

FR=TH2 4 2%

3620803

KFEKEH 4 3 4 Fih

3620809

FR=TH2 4 2%

3620803

KFEKXKEH 4 3 6Fih

3620809

hR=TH?2 4 3&Fih

3620803

KFEKXKEH 4 3 6Fih

3620809

FR=TH?2 4 4%&i

3620803

KFEKXKEH 4 3 6Fih

3620809|HFR=TH 2 4 5%t 3620803| KFK£t 4 3 8 &Fifh
3620809|HFR=TH 2 4 7 & 3620803 K=F K&t 4 3 7 &Hith
3620809|HFR=TH 2 5 2%t 3620806 K=F/NE 9 6 7 6 &Fith

3620809

FR=TH?25 3&FiH

3620806

KFINE 96 7 6FiHh

3620809

hR=TH25 4&Fih

3620806

KFINE 96 7 6FiHh
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#FIBERT R (FHERTIR)

HEESES #FERT IHEMEERS |B4ERR
3620809|HFR=TH 2 5 5%t 3620803| KFK£t 4 4 0 &Fith
3620809|HFR=TH 2 5 6 &t 3620803| KFKEt 4 4 0 &Fith
3620809|HFR=TH 25 7 &it 3620803| KF K&t 4 4 1 & 1
3620809|HFR=TH 2 5 8 it 3620803| KFK£t 4 4 0 &Fith
3620809|HFR=TH 2 5 9 it 3620803| KF Kt 4 4 1 &M 2
3620809|FR=TH 2 6 0 &t 3620803| KF Kt 4 4 1 &M 2
3620809|HFR=TH 2 6 1% 3620803| KFKEt 4 4 6 &Fifh 1
3620809|HFR=TH 2 6 2%t 3620803| KF Kt 4 4 1 &M 2
3620809|HFR=TH 2 6 5%t 3620803| KF Kt 4 4 1 &M
3620809|L=TH 2 6 6 Fith 3620803| KF Kt 4 4 1 &M
3620809|HFR=TH 2 6 7 &t 3620803| KF Kt 4 4 1 &M
3620809|HFR=TH 2 6 8 it 3620803| KF Kt 4 4 1 &M 2
3620809|HFR=TH 2 6 9 it 3620803 K=F K&t 4 3 9 FEith 2
3620809|HFR=TH 2 7 0 &it 3620803 KF K&t 4 3 9 &Fih 2
3620809|HFR=TH 2 7 0 &t 3620803| KFK£t 4 4 0 &Fith
3620809|FR=TH2 7 1% 3620806 K=F/NE 9 6 7 6 &Fith
3620809|FhRL=TH 2 7 2 it 3620806| K=F/NE 9 6 6 7 Fith
3620809|FR=TH 2 7 3% 3620806 K=F/NZE 9 6 6 7 &Fith
3620809|HFR=TH 2 7 4% 3620806 K=F/N=E 9 6 6 8 Fith 4
3620809|HFR=TH 2 7 6 &it 3620806 K=/N=E 9 6 6 8 Fit1 3
3620809|HFR=TH 2 7 8 &itt 3620806 K=F/NE 9 6 6 7 &Fith
3620809|HFR=TH 2 8 0 &t 3620806 K=F/NE 9 6 6 5&Fih 7
3620809|HFR=TH 2 8 1%t 3620806 K=F/N%E 9 6 6 5&EIM 6
3620809|HFR=TH 2 8 2%t 3620806 K=/N=E 9 6 3 3 & 3
3620809|HFR=TH 2 8 3%t 3620806 K=F/NE 9 6 3 3FiM 4
3620809|HFR=TH 2 8 4 it 3620806 K=F/NE 9 6 6 5 &M 4
3620809|FR=TH 2 8 5%t 3620806 K=F/N%E 9 6 6 5&EM 5
3620809|HR=TH 2 8 6 it 3620806 K=F/NZE 9 6 6 6 &Fits
3620809|HFR=TH 2 8 7 &t 3620806 K=F/N%E 9 6 6 5 &1 2
3620809|HFR=TH 2 8 8 &it: 3620806 K=F/NZE 9 6 6 5 & 1
3620809|HFR=TH 29 1% 3620803| KFKEt 4 1 5 &Hih
3620809|HFR=TH 29 2%t 3620806 K=F/NE 9 6 3 3&FiM 4
3620809|HFR=TH 2 9 3%t 3620806| KF/N=E9 6 3 2 &Fift
3620809|HFR=TH 2 9 6 &t 3620803| KF K&t 4 1 4 &Fih
3620809|HFR=TH 29 7 it 3620803| KFKEt 4 1 3&FM
3620809|HFR=TH 2 9 8 it 3620803| KFK£t 4 0 4 &Fith
3620809|HFR=TH 2 9 8 it 3620803| KF K&t 4 1 9 &Fith
3620809|HFR=TH 3 0 0 &itt 3620803| KF K&t 4 1 2 &
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HEESES

#ERT

IHEMEERS

|B{EFR

3620809

FR=TH 30 2&Fih

3620803

KFKEt 4 3 5 &

3620809

FR=TH3 0 3&ih

3620803

KFKEt4 2 7B

3620809

FR=THS3 0 3&ih

3620803

KFKEt 4 3 5 &

3620809

hR=THSIO0 4&ih

3620803

KFKEt4 2 7B

3620809

FR=TH 3 0 5 &Fit

3620803

KFKEt4 2 7B

3620809(H=TH 3 0 6 Fih 3620803| KFKEt 4 2 6 Fifh 1
3620809(R=TH 3 0 7 &Fith 3620803| KFKEt 4 2 6 &Fifh 1
3620809(=TH 3 0 8 Fith 3620803| KFKEt 4 2 6 Fifh 1

3620809

FR=TH 3 0 9 Fit

3620803

KFKEt4 2 6 8 1

3620809

hR=THI3 115

3620803

KFKEt4 2 6 8 1

3620809

hR=THI312%Fi

3620803

KFEKEH4 1 8 FHh

3620809

FR=THS315%&ih

3620803

KFEKEH4 1 5FH

3620809|HFR=TH 3 1 5&its 3620803| KFKEt 4 1 6 &Fith
3620809|HFR=TH 3 1 5&its 3620803| KF Kt 4 1 6 &Fifh 1
3620809|HFR=TH 3 2 1% 3620803| KFK$t4 3 3&FEM S

3620809

FR=THS3 2 2%Fih

3620803

KFKEt 4 3 3Fi

3620809

FR=THS3 2 3%&ih

3620803

KFKEt 4 3 3Fi

3620809

hR=THSI 2 4&Fih

3620803

KFKEt 4 3 3FH

3620809

FR=THS3 2 6&Fith

3620803

KFEKEH 4 3 4 Fih

3620809(hR=TH 3 2 7 &Fith 3620803| KF K&t 4 2 7 &Fith
3620809|HFR=TH 3 2 7 &it 3620803| KFKEt 4 2 8 &Fith
3620809(hR=TH 3 2 7 &Fith 3620803| KF K&t 4 2 9 &Fith

3620809

hR=THSI2 7&ih

3620803

KFEKEH 4 3 4 Fih

3620809

FR=TH 3 2 8 &Fith

3620803

KFKEt4 2 6 & 1

3620809

hR=TH 3 3 4 &Hith

3620803

KFKREH4 2 48 1

3620809

HFR=THS3 3 5&Fi

3620803

KFEKEH 4 2 3FH 1

3620809|HFR=TH 3 3 6 it 3620803| KFKEt 4 2 3 & 1
3620809|HFR=TH 3 3 9 it 3620803| KFKt4 2 5&HEM 2
3620809|HFR=TH 3 4 0 &itt 3620803| KFKEt 4 2 5 &Fih 1

3620809

hR=THSI4 15

3620803

RFKRét422%FH#4

3620809

FR=THS3 4 3%&ih

3620803

KFKREt4 2 286

3620809

FR=THS3 4 4 Fih

3620803

KFKREt4 2 287

3620809

FR=THS3 4 5%&ih

3620803

KFKREt4 2 288

3620809|HFR=TH 3 4 7 &t 3620803| KF Kt 3 9 3&FEM 2
3620809|HFR=TH 3 4 8 &it: 3620803| KFK£t 3 9 4 &Fith
3620809|HFR=TH 3 5 2%t 3620803| KF Kt 3 9 3&FEM 5

3620809

hR=TH 35 4 &Hith

3620803

KFKREH4 2 182

3620809

HFR=THS35 5&FH

3620803

KFKREt4 2 182
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HEESES #FERT IHEMEERS |B4ERR
3620809|HFR=TH 3 5 6 it 3620803| KFKEt4 2 1 &M 2
3620809|HFR=TH 3 5 7 it 3620803| KFKEt4 2 1 &M 2
3620809|HFR=TH 3 6 1%t 3620803| KFK£t 4 0 2 &Fith
3620809|HFR=TH 3 6 2%t 3620803| KFK£t 3 9 9 &Hith
3620809|HR=TH 3 6 3%t 3620803| KF Kt 4 0 2 &M 3
3620809|HR=TH 3 6 4 it 3620803| KFK£t 3 9 9 &Hith
3620809|HR=TH 3 6 5%t 3620803| KFK#t3 9 8 &Fith 3
3620809|HFR=TH 3 7 0 &ith 3620803| KFK£t 4 O 5 &ith
3620809|HFR=TH 3 7 1%&it 3620803| KFKEt4 1 0&FM 2
3620809|HFR=TH 3 7 2%t 3620803| KFK£t 4 0 7 &Fith
3620809|HFR=TH 3 7 4 &ith 3620803| KFK#t4 0 8 & 3
3620809|HFR=TH 3 7 6 &itt 3620803| KF Kt 3 9 3 &Fifh 1
3620809|HFR=TH 3 7 9 &it 3620803| KF Kt 3 9 2 &Fifh 1
3620809|HR=TH 3 8 0 &it: 3620803| KF Kt 3 9 2 &Fifh 1
3620809|HFR=TH 3 8 1%t 3620803| KFK£t3 9 1 &ih
3620809|HR=TH 3 8 3 &it: 3620803 K=F K&t 3 8 9 ZEith
3620809|HR=TH 3 8 6 &it: 3620803| KFK£t 3 9 5 &Fith
3620809|FR=TH 3 8 8 it 3620803| KFK£t3 9 7 &Fith
3620809|R=TH 3 8 8 it 3620803| KF Kt 3 9 8 &Fih 2
3620809|HFR=TH 3 8 9 it 3620803| KF Kt 3 9 8 &Fith 2
3620809|HFR=TH 3 9 0 &t 3620803| KFK£t 3 9 5 &Fifh
3620809(Fh R T H 7 Fith 3620806 K=F/NE9 4 7 O &M 2
3620809(FF R T H 9 FHith 3620806 K=F/NE9 4 7 3FEH 1
3620809(FF RO T H 1 O &Fith 3620806 K=F/NZE9 4 7 3 &M 1
3620809 (FR RO T H 1 1 & 3620806 K=F/NEQ 4 7 4 FEM 4
3620809(FF RO T H 1 3 &Fith 3620806 K=F/NZE9 4 7 3FEHM 1
3620809(FF RO T H 1 8 &Fifh 3620806 K=F/NE9 4 7 1 &M
3620809(FF RO T H 1 9 &Fith 3620806 K=F/NE9 4 7 1 &M
3620809(FF RO T H 2 O &Fith 3620806 K=F/NE 9 4 6 8 Fith
3620809(FF RO T H 2 1 Z&Fih 3620806 K=F/NE 9 4 6 8 Fith
3620809(FF RO T H 2 2 &Fifh 3620806 K=F/NE 9 4 6 8 Fith
3620809(FF RO T H 2 8 it 3620806 K=F/NE 9 4 7 5 &EiHh
3620809(FF RO T H 3 O it 3620806 K=F/NE9 4 7 5&EM 5
3620809(FF RO T H 3 2 it 3620806 K=F/NE 9 4 7 5 &EiHMh
3620809(FFRIMT H 3 4 it 3620806\ KF/NE9 4 8 1 &ifh 1
3620809(FF RO T H 4 O &Fith 3620806| K=F/NZE9 4 8 1 &1 2
3620809(FF RO T H 4 5 &Fih 3620806 K=F/NE 9 6 4 4 Fith
3620809(FF RO T H 4 6 Z&Fifh 3620806 K=F/NE 9 6 4 4 Fih
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HEESES #FERT IHEMEERS |B4ERR
3620809(FFRIMT H 4 7 &Fith 3620806\ XF/N=E 9 5 0 2 &Fifh
3620809(FF RO T H 4 9 &Fith 3620806| KF/N=E 9 4 8 9 Fift
3620809(FF RO T H 5 1 Z&ih 3620806/ KF/NZE 9 4 8 9 Fith 1
3620809(FF RO T H 6 2 Z&Fifh 3620806\ KF/NE9 4 8 4 &Fih 4
3620809(FFRIMT H 6 7 &Fith 3620806| KF/N=E 9 4 8 2 Fift
3620809(FFRMT H 6 8 it 3620806| KF/N=E 9 4 8 2 Fift
3620809(FF RO T H 6 9 Fifh 3620806 K=F/N=E 9 4 8 3F&EiM: 3
3620809(FRRIMTH 7 1 & 3620806 K=/NE 9 4 8 5 & 3
3620809(FF RO T H 7 2 &Fith 3620806 K=F/NE 9 4 8 5 & 3
3620809(FF RO T H 7 3 &Fith 3620806| K=F/NE9 6 5 1 3
3620809(FF R T H 7 4 &Fith 3620806| K=F/NE9 6 5 1 &M S
3620809(FR R T H 7 7 &Fith 3620806| K=F/NE9 6 5 1 &l 4
3620809(FF RO T H 7 8 &Fifh 3620806/ KXF/N=E9 6 5 0 &Fift
3620809(FFRMT H 8 1 & 3620806/ KXF/N=E9 6 5 0 &Fift
3620809(FF RO T H 8 2 it 3620806/ KXF/N=E9 6 5 0 &Fift
3620809(FF RO T H 8 3 it 3620806 K=F/NZE 9 6 4 9 FEith 1
3620809(FF RO T H 8 5 &t 3620806 K=F/NZE 9 6 4 9 Fith 1
3620809(FF RO T H 8 6 it 3620806 K=F/NZE 9 6 4 9 FEith 1
3620809(FR RO T H 8 8 it 3620806/ KF/N=E9 4 8 6 & 2
3620809(FF RO T H 8 9 it 3620806/ KF/N=E 9 4 8 6 &Fift
3620809(FF RO T H 9 3 &Fith 3620806\ KF/N=E 9 4 8 6 &Fift
3620809(FF RO T H 9 3 &Fifh 3620806| KF/NE9 6 5 1 &l 4
3620809(FFRIMT H 9 4 Fifh 3620806/ KF/NE9 6 5 2 Fith 1
3620809(FFRIMT H 9 5 &ith 3620806| KF/N=E9 6 5 2 &M 2
3620809(FF RO T H 9 8 it 3620806 K=F/N%E 9 6 5 5&EM 5
3620809|RIMTHE 10 1% 3620806| KF/N=E9 6 5 6 & 2
3620809|HRIMTHE 10 2% 3620806| KF/N=E9 6 5 4 Fift
3620809|HRIMTHE 1 0 3&ih 3620806 K=/NZE 9 6 3 8 Fith 1
3620809|HRIMTHE 10 4 Fih 3620806| K=F/NE Q9 6 4 8 &Fith 2
3620809|HRIMTHE 1 0 6 &ith 3620806| K=F/NEQ 6 4 8 &Hith 2
3620809|FRIMTHE 10 7 it 3620806| K=F/NEQ 6 4 7 Fih 1
3620809|HRIEMTHE 1 1 0&ih 3620806 K=F/NZE 9 6 4 8 Fith 1
3620809|FRIMTHE 1 1 3% 3620806 K=F/N%E 9 6 5 3 &Fih
3620809|HFRIMTHE 1 1 4% 3620806 K=F/NE 9 6 5 3 &Fih
3620809|FRIMTHE 1 1 5&ih 3620806/ KF/NE9 6 5 2 Fith 1
3620809|HFRIMTH 1 1 9% 3620806 K=F/N%E 9 6 5 8 Fith 1
3620809|HFRIMTHE 1 2 0&ih 3620806| K=F/NZE9 6 5 9 Fih 2
3620809|HRIMTHE 1 2 0&ih 3620806 K=F/NE 9 6 6 O &Fits
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HEESES #FERT IHEMEERS |B4ERR
3620809|HRIMTH 1 2 3%&ih 3620806/ KF/NZE9 6 5 9 Fith 1
3620809|HFRIMTHE 1 2 4% 3620806/ KF/N=E9 6 5 9 Fith 1
3620809|HRIMTHE 1 2 5&ih 3620806 K=F/NE9 6 7 2 FiHh 1
3620809|HFRIMTH 1 2 7 & 3620806 K=F/NE9 6 7 2 FiHh 1
3620809|HRIMTHE 1 2 8 Fih 3620806 K=F/NZE9 6 7 1 &M 1
3620809|HFRIMTH 1 2 9&ih 3620806 K=F/NZE9 6 7 1 &M 1
3620809|RIMTHE 1 3 0&ith 3620806 K=F/NE9 6 7 1 &M 1
3620809|HFRIMTHE 1 3 1&ih 3620806 K=F/NZE 9 6 6 O &Fith
3620809|HFRIMTHE 1 3 1&ih 3620806 K=/ 9 6 6 O Fith 2
3620809|HRIMTHE 1 3 2%ih 3620806 K=F/NZE 9 6 6 O &Fith
3620809|RIMTHE 1 3 3% 3620806\ KF/NE9 6 5 7 &Fith 1
3620809|HFRIMTHE 1 3 4 &ih 3620806 K=F/NZE 9 6 3 8 Fith 1
3620809|HRIEMTHE 1 3 4 Z&ih 3620806| KF/NEQ9 6 5 7 Fith 2
3620809|RIMTHE 1 3 5&ith 3620806 K=F/NZE 9 6 3 8 Fith 1
3620809|RIMTHE 1 3 6 &ith 3620806 K=F/NZE 9 6 3 8 Fith 1
3620809|RIMTHE 1 3 6 &ith 3620806 K=F/NZE 9 6 6 O &Fits
3620809|HRIMTHE 1 3 6&ith 3620806 K=F/NZE9 6 6 1 &1
3620809|HFRIMTHE 1 3 7 &ih 3620806 K=F/NE 9 6 6 O &Fits
3620809|HRIMTHE 1 3 7 &ih 3620806 K=F/NZE 9 6 6 1 &1
3620809|HFRIMTHE 1 3 7 &ih 3620806 K=F/N%E 9 6 6 1 &2
3620809|RIMTHE 1 3 8 &ith 3620806 K=/N%=E 9 6 6 O &M 5
3620809|RIMTHE 1 3 9&ih 3620806 K=F/NZE 9 6 6 O &Fits
3620809|HRIMTHE 1 4 0&ih 3620806 K=F/NE 9 6 6 2 Fith
3620809|HFRIMTHE 1 4 2% 3620806 K=F/NE 9 6 6 2 Fith
3620809|HRIMTHE 1 4 3% 3620806 K=F/NE9 6 7 1 &M 1
3620809|HFRIMTHE 1 4 3% 3620806 K=F/NE9 6 7 1%&EHM 2
3620809|HFRIMTHE 1 4 4% 3620806 K=F/NE 9 6 6 3 &Fih
3620809|HFRIMTHE 1 4 7% 3620806 K=F/NZE 9 6 9 5 &FiHh 1
3620809|HRIMTHE 1 4 8% 3620806 K=F/NE 9 6 6 2 Fith
3620809|HFRIMTHE 1 4 9&ih 3620806 K=/N%=E9 6 6 1% 3
3620809|HRIMTHE 15 0&ih 3620806 K=F/N%=E9 6 6 1 &3
3620809|HFRIMTHE 15 2% 3620806 K=F/NZE 9 6 3 8 Fith 1
3620809|HFRIMTHE 15 7 &ih 3620806 K=F/NZE 9 6 3 8 Fith 1
3620809|HRIMTHE 15 8%t 3620806\ XF/NE9 6 3 7 &Fith
3620809|RIMTHE 15 9% 3620806 K=F/NZ=E 9 6 3 5 &Fith
3620809|FRIMTHE 16 1&ih 3620806 K=F/NE 9 6 3 5 &Fith
3620809|HRIMTHE 16 2% 3620806 K=F/N=E 9 6 3 5 &Fith
3620809|HRIMTHE 16 2% 3620806 K=F/NZE 9 6 3 5 &FiHh 1
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HEESES #FERT IHEMEERS |B4ERR
3620809|HRIMTHE 1 6 3% 3620806/ KXF/N=E9 6 3 0 &Fift
3620809|HRIMTHE 1 6 5%&ith 3620806/ KXF/N=E 9 6 3 6 &Fift
3620809|HRIMTHE 1 6 6%t 3620806 K=/N=E 9 6 3 8 Fif 2
3620809|HRIMTHE 1 6 8%t 3620806 K=/N%=E 9 6 3 8 Fif1 2
3620809|HRIMTHE 16 9&ih 3620806/ KF/N=E9 6 3 9 Fith 1
3620809|HFRIMTHE 17 2% 3620806 K=F/NE 9 6 4 1 &
3620809|HFRIMTH 17 7% 3620806 K=F/NE 9 6 7 O &Fith
3620809|HRIMTHE 1 7 8% 3620806 K=F/NE9 6 7 3&FHMh 2
3620809|HRIMTHE 1 8 3%&ih 3620806 K=F/NE 9 6 7 5 &FiMh
3620809|HRIMTHE 18 4 Z&ith 3620806 K=F/NE 9 6 6 9 Fith
3620809|HRIMTHE 18 5&ith 3620806 K=F/NE 9 6 6 9 Fith
3620809|HRIMTHE 18 6&ith 3620806 K=F/NE 9 6 6 4 Fith
3620809|RIMTHE 18 7 &ih 3620806 K=F/NE 9 6 6 4 Fith
3620809|HRIMTHE 1 8 8%ith 3620806| KXF/N=E 9 6 3 4 Fift
3620809|HFRIMTHE 19 1% 3620806 K=F/NE 9 6 2 6 Fith
3620809|HFRIMTHE 19 1% 3620806 K=F/NE 9 6 2 7 &Fith
3620809|HFRIMTHE 19 1% 3620806 K=F/NE 9 6 2 8 Fits
3620809|HFRIMTHE 19 2% 3620806 K=F/NE 9 6 2 8 Fits
3620809|RIMTHE 19 3%&ih 3620806 K=F/NE 9 6 2 5 &Fih
3620809|HRIMTHE 19 3% 3620806 K=F/NE 9 6 2 8 Fits
3620809|RIMTHE 19 5%&ih 3620806 K=F/NE 9 6 2 8 Fith
3620809|HFRIMTHE 19 7 &ih 3620806\ KXF/N=E9 6 3 1 &Fih
3620809|HRIMTHE 2 0 4 Z&ith 3620806 K=F/NE 9 6 2 O &Fith
3620809|HRIMTH 2 0 8 &ith 3620806 K=F/NE 9 6 2 2 Fith
3620809|HRIMTH 2 1 0&ih 3620806 K=F/NE 9 6 2 2 Fith
3620809|HFRIMTH 2 1 1% 3620806 K=F/NZE 9 6 0 9 Fith 1
3620809|HFRIMTH 2 1 2% 3620806 K=/ 9 6 0 9 &Fith 3
3620809|HRIMTH 2 1 3&ih 3620806 K=F/N%E 9 6 0 9 &Fith 2
3620809|HFRIMTH 2 1 4 %&ih 3620806\ KXF/NE9 6 0 9 &FiMh 2
3620809|HFRIMTH 2 1 9&ih 3620803| KF K&t 4 1 1 &
3620809|HRIMTH 2 2 0 &ith 3620806 K=/ =9 5 8 8 Fit 7
3620809|HFRIMTH 2 2 2 %ih 3620803| KFKEt4 1 0&FM 2
3620809|HFRIMTH 2 2 3 &ih 3620803| KFKEt4 1 0&FM 2
3620809|HFRIMTH 2 2 4 ZFith 3620803| KF Kt 4 0 9 &Fih 3
3620809|HRIMTH 2 2 6 Z&ith 3620806/ KXF/N=E9 5 8 6 &Fift
3620809|HFRIMTH 2 2 9 &ith 3620806\ KXF/N=E9 6 0 O &Fith 2
3620809|HRIMTH 2 3 0 &ith 3620806 K=/ 9 6 O O &Fith
3620809|HRIMTH 2 3 5&ith 3620806 K=/ 9 6 0 9 &Fith 2
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HEESES #FERT IHEMEERS |B4ERR
3620809|HRIMTH 2 3 9 &ith 3620806 K=F/NZE 9 6 1 O &Fith
3620809|HRIMTH 2 4 0 &ih 3620806 K=F/NE 9 6 1 O &Fith
3620809|HRIMTH 2 4 0 &ih 3620806(K=F/NZE9 6 1 1 &M
3620809|HFRIMTH 2 4 1% 3620806 K=F/NE9 6 1 2 &Fih
3620809|HRIMTH 2 4 2 %ih 3620806 K=F/NE9 6 1 2 &Fih
3620809|HRIMTH 2 4 5%&ih 3620806 K=F/NZE 9 6 O 7 &Fith 1
3620809|HRIMTH 2 4 6 Z&ith 3620806\ KXF/NE9 6 0 7 Fith 2
3620809|HRIMTH 2 4 8 Z&ith 3620806 K=/ 9 6 O 7 &t 3
3620809|HFRIMTH 2 4 9 &ih 3620806 K=/ 9 6 O 8 Fits
3620809|HFRIMTH 2 5 2 Z&ith 3620806 K=F/NZE 9 6 O 8 Fits
3620809|HRIMTH 2 5 8 Z&ith 3620806 K=/ 9 6 O 3 & 1
3620809|HFRIMTH 2 5 9 &ith 3620806 K=F/NZE 9 5 9 9 Fith 1
3620809|HRIMTH 2 6 0 &ith 3620806 K=F/NZE 9 5 9 9 Fith 1
3620809|HRIMTHE 2 6 1&ih 3620806\ XF/N=E9 5 8 7 &Fith
3620809|HFRIMTH 2 6 2 %&ih 3620806\ XF/N=E9 5 8 7 &Fith
3620809|HFRIMTHE 2 6 4 Z&ith 3620806 K=F/N%=E 9 5 8 8 Fifs
3620809|HRIMTH 2 6 5&ith 3620806/ KF/N=E9 5 8 9 Fifh 1
3620809|HFRIMTHE 2 6 6 Z&ith 3620806/ KF/N=E 9 5 8 9 Fifh 1
3620809|HRIMTHE 2 6 7 &ith 3620806 K=F/N%=E 9 5 8 8 Fifs
3620809|HRIMTH 2 6 8 Fith 3620806 K=/N%=E 9 5 9 3 & 3
3620809|HFRIMTH 2 7 1% 3620806\ XF/N=E9 5 9 8 &Fifh
3620809|HFRIMTH 2 7 7 &ih 3620806 K=F/NE 9 6 1 5 &Hih
3620809|HFRIMTH 2 7 7 &ih 3620806 K=F/NE 9 6 1 6 &Fits
3620809|HRIMTH 2 7 8 &ith 3620806 K=F/NE 9 6 1 4 &Fih
3620809|HRIMTH 2 8 2 Z&ith 3620806\ XF/N=E9 5 0 7 &Fith
3620809|RIMTH 2 8 3 &ith 3620806\ XF/N=E9 5 0 7 &Fith
3620809|HRIMTH 2 8 4 Z&ith 3620806\ KXF/N=E 9 5 0 8 &Fith
3620809|HRIMTH 2 8 5 &ith 3620806\ XF/N=E 9 5 0 8 &Fith
3620809|HRIMTH 2 8 6 Z&ith 3620806\ XF/N=E9 5 0 8 &Fith
3620809| R TH 2 8 8 &ith 3620806\ XF/N=E9 5 0 9 &Fith
3620809|HRIMTH 2 8 9 &ith 3620806 K=/ 9 5 0 6 &Fit1 3
3620809|HRIMTH 2 9 0 &ith 3620806\ XF/N=E9 5 0 6 &Fith
3620809|HFRIMTH 2 9 2 %ih 3620806 K=F/NZE 9 6 O 6 Fith 1
3620809|HRIMTH 2 9 5&ith 3620806 K=/ 9 6 O 6 &t 2
3620809|HRIMTH 2 9 6 &ith 3620806 K=/N%=E 9 6 O 6 &Fit1 3
3620809|H R THE 3 0 0 &ith 3620806\ KXF/N=E9 5 9 6 &Fith
3620809|HRIMTHE 3 0 1&ih 3620806\ KXF/N=E9 5 9 5 &Fifh
3620809|H R THE 3 0 3 &ith 3620806\ XF/N=E 9 5 2 3 &Fih
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3620809|RIMTH 3 1 0&ith 3620806 K=F/N%E9 5 1 9 &Fith 3
3620809|HRIMTHE 3 1 2%ih 3620806 K=F/NZE9 5 2 1 &1
3620809|HRIMTH 3 1 5&ith 3620806\ KXF/NE 9 5 2 2 &Fifh
3620809|HRIMTHE 3 1 7 &ih 3620806 K=F/NE 9 5 1 4 &Fih 7
3620809|HRIMTHE 3 1 9&ih 3620806 K=/ 9 5 1 5 & 3
3620809|HRIMTH 3 2 1&ih 3620806 K=F/N%=E9 5 1 4 & 3
3620809|HRIMTH 3 2 6 &ith 3620806 K=F/NZE9 5 1 2 &FiHh 1
3620809|HRIMTHE 3 2 7 &Fith 3620806\ KF/N=E9 5 1 4 &Fith
3620809|HRIMTH 3 2 9 &ith 3620806\ KXF/N=E9 5 1 4 &Fifh
3620809|H R TH 3 3 0 &ith 3620806( K=F/NE9 5 1 4 &M 6
3620809|HRIMTHE 3 3 2 %&ith 3620806 K=F/NE9 5 1 4 &EM 5
3620809 T H 3 3 6 Fith 3620806 K=F/NE 9 4 9 9 FEith 1
3620809|H R TH 3 3 6 &ith 3620806 K=F/N%E 9 5 0 O &Fith 1
3620809|H R THE 3 3 8 &ith 3620806\ XF/N=E9 5 0 2 &Fith
3620809|HRIMTH 3 4 0 &ith 3620806\ XF/N=E 9 5 0 5 &Fith
3620809|HRIMTH 3 4 5%&ih 3620806 K=F/NE 9 4 9 8 Fith
3620809|HRIMTHE 3 4 5&ith 3620806 K=F/NZE 9 4 9 9 FEih 1
3620809|HFRIMTHE 3 6 1&ih 3620806 K=F/NE 9 4 6 3 &FiMh
3620809|HFRIMTHE 3 6 4 Z&ith 3620806 K=F/NE 9 4 6 6 Fith
3620809|H R THE 3 6 5&ith 3620806 K=F/NE 9 4 6 5 &Fih
3620809|H R THE 3 6 6 &ith 3620806 K=F/NE 9 4 6 4 Fih
3620809| R THE 3 6 8 &t 3620806 K=F/NE 9 4 6 O & 2
3620809|HRIMTHE 3 7 1&ih 3620806 K=F/NE 9 4 6 O & 3
3620809|HRIMTHE 3 7 2%ih 3620806 K=F/NE 9 4 6 2 Fih
3620809|HRIMTHE 3 7 5&ith 3620806 K=F/NE 9 4 4 8 FEih 2
3620809|HRIMTHE 3 7 8 &ith 3620806 K=F/NE O 4 4 8 Fith 7
3620809|H R THE 3 8 0 &ith 3620806 K=F/NZE 9 4 4 8 FEith 1
3620809|HRIMTHE 3 8 0 &ith 3620806 K=F/NE 9 4 4 8 FEith 1
3620809|H R THE 3 8 4 Zith 3620806 K=F/NE 9 4 4 8 Fith
3620809|H R THE 3 8 8 &ith 3620806 K=F/NZE 9 4 4 8 FEith 1
3620809|HRIMTH 3 9 1&ih 3620806 K=F/NE 9 4 6 2 FEiHh 1
3620809|HRIMTHE 3 9 2% 3620806 K=F/NE 9 4 6 2 FiHh 1
3620809|HRIMTHE 3 9 6 &ith 3620806/ KF/NZE 9 4 5 0 & 1
3620809|HRIMTH 3 9 6 &ith 3620806| KF/N=E9 4 5 0 & 2
3620809|H R THE 4 0 8 &ith 3620806| KF/N=E9 4 5 2 &M 3
3620809|HRIMTH 4 1 0&ih 3620806\ KF/N=E 9 4 5 2 Fifh
3620809|HRIMTH 4 1 2% 3620806\ KF/N=E9 4 5 2 &M 7
3620809|HRIMTH 4 1 3%&ih 3620806\ KF/N=E9 4 5 2 & 4
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3620809|HRIEMTHE 4 1 5%&ih 3620806| KF/N=E9 4 5 2 &M 9
3620809|HRIMTH 4 2 0 &ih 3620806\ KF/N=E9 4 5 1 &
3620809|HRIMTH 4 2 2%ih 3620806\ KF/NE9 4 5 1 &
3620809(FFRATH 1 7 &Fith 3620806 K=F/NES5 1 1 4 &1
3620809(FFRATH 1 9 &Fith 3620806 K=F/NZE9 7 6 6 Fith 1
3620809(FFRATH 2 0 &Fith 3620806 K=F/NE9 7 6 4 FEiHh 1
3620809(FFRATH 2 1 & 3620806| KF/N=E9 7 5 9 Fift
3620809(FFRATH 2 2 &Fith 3620806 K=F/NE9 7 5 8 &Fith
3620809(FFRATH 2 4 &Fith 3620806| KF/N=E9 7 5 6 &Fift
3620809(FFRATH 2 5 &Fih 3620806| KXF/N=E9 7 5 6 &Fift
3620809(FFRATH 2 6 Fifh 3620806| KF/N=E9 7 5 6 &Fift
3620809(FFRATH 2 6 &Fith 3620806\ KF/NE 9 7 5 7 &Fith
3620809(FFRATH 2 7 &Fith 3620806 K=F/NE9 7 6 O &Fith
3620809(FFRATH 2 7 &Fith 3620806 K=F/NE9 7 6 3 &M
3620809(FFRATH 2 8 Fith 3620806 K=F/NE9 7 6 2 &Fith
3620809(FFRATH 2 9 &Fith 3620806 K=F/N=E5 1 1 6 &M 2
3620809(FF AT H 3 0 &Fith 3620806 K=F/N=E5 1 1 3&FHM
3620809(FFRATH 3 1 & 3620806 K=F/N=E5 1 1 3 &M
3620809(FFRATH 5 0 &Fith 3620806 K=F/NZE9 7 5 5 &FiHh 1
3620809(FFRATH 5 1 & 3620806 K=F/NE 9 7 4 9 Fith
3620809(FFRATH 5 5 &Fith 3620806 K=F/NE 9 7 1 4 &Eih
3620809(FFRATH 5 6 &Fith 3620806 K=F/NE9 7 1 6 &M 2
3620809(FFRAT H 6 O &Fith 3620806( K=F/NE9 7 1 6 &FEM 5
3620809(FFRATH 6 1 & 3620806 K=F/NE9 7 2 O &M 2
3620809(FFRATH 6 2 &Fith 3620806 K=F/NE9 7 2 O &M 2
3620809(FFRATH 6 3 &Fith 3620806( K=F/NE9 7 1 6 &FEM 5
3620809(FFRATH 6 4 &Fith 3620806 K=F/NE9 7 1 6 &M 2
3620809(FFRATH 6 6 &Fith 3620806/ KF/N=E9 6 8 9 & 3
3620809(FFRATH 7 0 &Fith 3620806 K=F/NZE9 7 1 6 &FiHh 1
3620809(FFRATH 7 1 & 3620806 K=F/N%=E9 7 1 6 &M 3
3620809(FFRATH 7 2 &Fih 3620806 K=F/NE9 7 1 6 &M 3
3620809(FFRATH 7 3 &Fih 3620806 K=F/NE9 7 2 O &EiHh 1
3620809(FFRATH 7 4 &Fith 3620806 K=F/NEE9 7 2 1 &
3620809(FFRATH 7 6 &Fith 3620806 K=/ 9 6 8 8 Fifs
3620809(FFRATH 8 4 Fith 3620806 K=F/NZE 9 6 9 6 Fith 1
3620809 RAT H 8 5 &Fith 3620806 K=F/NE 9 6 9 9 Fith 2
3620809 RAT H 8 6 it 3620806 K=F/NE 9 6 9 8 Fifh 2
3620809(FF AT H 8 8 it 3620806 K=F/NZE 9 6 9 O &Fith 1
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3620809(FF AT H 8 8 it 3620806 K=F/NE9 7 1 6 &M 3
3620809(FFRATH 9 3 &Fith 3620806 K=/ 9 6 9 O &t 8
3620809(FFRATH 9 5 &Fih 3620806 K=F/NE 9 6 9 2 FiHh 1
3620809(FFRATH 9 6 &Fith 3620806 K=F/NZE 9 6 9 2 Fih 1
3620809(FFRATH 9 7 &Fith 3620806 K=F/NZE9 7 O O &Fith 1
3620809(FFRAT H 9 8 Fith 3620806 K=F/NZE9 7 O O &Fith 1
3620809|HFRAETHE 1 0 0Fith 3620806 K=F/NZE9 7 O O &Fith 1
3620809|HFRAETHE 1 0 0Fith 3620806\ KF/NE9Q 7 0 1 &M 4
3620809|HFRAETHE 10 1% 3620806\ KF/NE9Q 7 0 1 &M 4
3620809|HFRAETHE 10 2%ih 3620806 K=F/NZE9 7 O 2 &FiHh 1
3620809|HFRAETHE 1 0 3&ih 3620806 K=F/NE9 7 0 2 &M 6
3620809|HFRAETHE 10 4 Fih 3620806 K=F/NE9 7 0 2 &M 5
3620809|HFRAETHE 10 5&ih 3620806 K=F/NE9Q 7 0 2 &M 4
3620809|HFRAETHE 10 7 &Fih 3620806 K=/ 9 7 O 1 & 3
3620809|HFRAETHE 1 0 8Fith 3620806 K=/ 9 7 O 3 & 2
3620809|HFRAETHE 10 9&ih 3620806 K=F/NZE9 7 O 3 & 1
3620809|HFRAETHE 1 1 0&ih 3620806 K=F/NZE9 7 O 1 &1
3620809|HFRAETHE 1 1 1% 3620806\ KXF/NE9 6 9 2&FM 2
3620809|FRAETHE 1 1 2% 3620806 K=F/NZE 9 6 9 2 Fih 1
3620809|FRAETHE 1 1 3% 3620806 K=F/NZE 9 6 9 2 Fih 1
3620809|HFRAETHE 1 1 4% 3620806 K=F/NE 9 6 9 2 Fih 1
3620809|HFRAETHE 1 1 5&ih 3620806 K=F/N%E 9 6 9 O &M 6
3620809|HFRAETH 1 2 1% 3620806\ KXF/N=E5 1 3 1 &
3620809|HFRAETH 1 2 2% 3620806| KF/N=E5 13 2&FM 2
3620809|HFRAETHE 1 2 3% 3620806| KF/N=E5 13 2&FHM 2
3620809|HFRAETHE 1 2 6&ih 3620806 K=F/NZ=E5 1 1 6 &1
3620809|HFRAETH 1 2 9&ih 3620806(K=F/N=E5 1 1 5 &M 6
3620809|HFRAETH 1 3 0&ih 3620806 K=F/N=E5 1 1 5 &
3620809|HFRAETHE 1 3 1% 3620806 K=F/NE5 1 1 5 &
3620809|HFRAETH 1 3 3%&ih 3620806 K=F/NES5 1 2 9 Fith 1
3620809|HFRAETHE 1 3 5&ith 3620806| KF/N=E5 1 3 0 &M 3
3620809|HFRAETHE 1 3 6 &ith 3620806\ KXF/N=E5 1 3 0&Fit 4
3620809|HFRAETH 1 3 9&ih 3620806| KF/N=E5 1 3 0&FHM 2
3620809|HFRETHE 1 4 2% 3620806| KF/N=E5 1 3 0&FHM 2
3620809|HFRAETE 1 4 4% 3620806 K=F/N=E5 1 3 5&FiM 4
3620809|HFRAETHE 1 4 6% 3620806 K=F/N=E 5 1 2 8 &Fith
3620809|HFRAETHE 1 4 6 & 3620806\ KF/NE5 1 3 7 &Fith
3620809|HFRAETHE 15 2% 3620806 K=F/N=E 5 1 3 3 &M
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3620809|HFRAETHE 15 3%&ih 3620806| KF/N=E5 1 3 0&FH 6
3620809|HFRAETHE 15 5&ih 3620806| KF/N=E5 1 3 0FM S5
3620809|HFRETHE 15 6%t 3620806/ KF/N=E5 1 3 0 & 1
3620809|HFRAETHE 15 9% 3620806| KF/N=E5 1 3 2 & 1
3620809|HFRAETHE 1 6 5&ith 3620806 K=F/N=E 5 1 3 3 &
3620809|HFRETHE 16 6&ith 3620806\ KF/N=E5 1 3 4 Fifh
3620809|HFRAETHE 17 0Fih 3620806 K=F/NE5 17 9&FM 2
3620809|HFRAETH 17 2% 3620806 K=F/NE5 17 9 &M 2
3620809|FRAETH 17 5&ih 3620806 K=F/N=E5 1 7 9 &M 3
3620809|FRAETHE 17 7% 3620806 K=F/NES5 1 7 9 &FiHh 1
3620809|HFRAETHE 18 2%ih 3620806 K=F/NE5 1 4 3 &M
3620809|HFRAETHE 18 5&ith 3620806 K=F/NE5 1 4 1 &M
3620809|HFRAETHE 1 8 5&ith 3620806 K=F/NES5 1 4 2 &1
3620809|HFRAETHE 18 6&ith 3620806 K=F/NE5 1 4 O &Fith
3620809|HFRAETHE 18 6 &ith 3620806 K=F/NE5 1 4 1 &M
3620809|HFRAETHE 18 6&ith 3620806 K=F/NES5 1 4 2 FHh 1
3620809|HFRAETHE 18 7 &ih 3620806 K=F/NES5 1 4 2 &1
3620809|HFRAETHE 18 9&ith 3620806 K=F/NE5 1 6 4 FiHh 1
3620809|HFRAETHE 19 5&ih 3620806 K=/N=E5 1 3 8 &t 3
3620809|HFRAETHE 19 6% 3620806 K=/N=E5 1 3 8 &t 2
3620809|FRAETH 19 7% 3620806| KF/N=E5 1 3 9FM 2
3620809|FRAETH 19 9&ih 3620806/ KF/N=E5 1 3 9 & 1
3620809|HFRAETH 2 0 1&ih 3620806\ KF/N=E5 1 3 9 &M 7
3620809|HFRAETH 2 0 2%ih 3620806| KF/N=E5 1 3 9FMS5
3620809|HFRAETH 2 0 5&ith 3620806 K=F/NES5 1 2 5 &M 1
3620809|HFRAETH 2 0 7 Fith 3620806 K=F/N=E5 1 2 5 &M 2
3620809|FRAETH 2 1 2% 3620806 K=F/NE5 1 2 6 &Fith
3620809|HFRAETH 2 1 3% 3620806| KF/N=E5 1 3 6 &Fift
3620809|HFRAETH 2 1 4% 3620806 K=F/NE5 1 4 8 &M 6
3620809|HFRAETH 2 1 5&ih 3620806 K=F/NE5 1 4 8 Fith 7
3620809|HFRAETH 2 1 6&ih 3620806 K=F/NE5 1 4 8 &M 6
3620809|HFRAETH 2 1 7% 3620806 K=F/NE5 1 4 8 &FM 5
3620809|HFRAETH 2 1 9&Fih 3620806 K=F/NE5 1 0 4 &Fith
3620809|HFRAETH 2 1 9&ih 3620806 K=/N=E 5 1 0 5 &Hith
3620809|HFRAETH 2 2 0 Fih 3620806 K=F/NES5 1 1 9 &FiHh 1
3620809|HFRAETH 2 2 1% 3620806 K=F/N=E5 1 1 9&FM 2
3620809|FRAETH 2 2 2% 3620806 K=F/N=E5 1 1 9 &M 3
3620809|HFRAETH 2 2 3% 3620806 K=F/NE5 1 1 8 &M 4
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3620809|HFRAETH 2 2 4 Fih 3620806 K=F/N=E5 1 1 8 &M 4
3620809|HFRAETH 2 2 6 Fith 3620806 K=/N=E5 1 1 8 & 3
3620809|HFRAETH 2 2 9 &Fith 3620806 K=F/NES5 1 1 7 &Fith
3620809|HFRAETH 2 3 0 &ith 3620806 K=F/NES5 1 1 7 &Fith
3620809|HFRAETH 2 3 1&ih 3620806 K=/N=E5 1 1 8 & 3
3620809|HFRAETH 2 3 5&ith 3620806 K=F/NZ=E5 1 1 8 &Fih 1
3620809|HFRAETHE 2 3 6 &ith 3620806 K=/hN=E5 1 1 8 & 3
3620809|HFRAETH 2 3 7 &Fith 3620806/ K=F/NE5 1 1 9&FM 4
3620809|HFRAETH 2 3 8 Fith 3620806 K=F/NE5 1 1 9FM 4
3620809|HFRAETH 2 3 9 &ith 3620806 K=F/NE5 1 1 9FM 4
3620809|HFRAETH 2 4 0 Fih 3620806 K=F/N=E5 1 1 9&EM 6
3620809|HFRAETH 2 4 1% 3620806 K=F/N=E5 1 1 9&FM 7
3620809|HFRAETHE 2 4 3% 3620806 K=F/NE5 1 2 O &Fith
3620809|HFRAETH 2 4 5%&ih 3620806 K=F/NES5 2 2 2 FiHh 1
3620809|HFRAETHE 2 4 6 it 3620806 K=F/NE5 2 5 5 &Fith
3620809|FRAETH 2 4 7% 3620806 K=F/NES5 2 2 1 &
3620809|HFRAETH 2 4 9 &Fith 3620806 K=F/NES5 2 2 1 &
3620809|HFRAETH 2 5 0 &ith 3620806 K=F/NE5 2 2 0 &Fith
3620809|HFRETHE 2 5 1% 3620806 K=F/NE5 2 2 0 &Fith
3620809|HFRAETH 2 5 4 it 3620806 K=F/N=E5 2 1 9FM 2
3620809|HFRAETH 2 5 6 &ith 3620806 K=F/NES5 2 2 1 &FiHh
3620809|HFRAETH 2 5 8 &ith 3620806 K=F/NES5 2 2 1 &
3620809|HFRAETH 2 5 9 &ith 3620806 K=F/NE5 1 0 2 &Fith
3620809|HFRAETH 2 6 0 &Fith 3620806 K=F/NE5 1 2 2 &M 5
3620809|HFRAETHE 2 6 1% 3620806 K=F/NE5 1 2 2 &M 5
3620809|HFRAETH 2 6 2% 3620806 K=F/NE 5 1 0 2 &Fith
3620809|HFRAETH 2 6 3% 3620806 K=F/N=E 5 1 0 3 &
3620809|HFRAETHE 2 6 5%&ith 3620806 K=F/NES5 1 2 1 &M
3620809|HFRAETHE 2 6 6 Fith 3620806 K=F/NE5 1 2 2% 3
3620809|HFRAETH 2 6 7 i 3620806 K=F/NE5 1 2 2 &M 2
3620809|HFRAETH 2 6 9 it 3620806 K=F/NE5 2 2 0 &Fith
3620809|HFRAETH 2 7 0 Fih 3620806 K=F/NE5 2 2 0 &Fith
3620809|FRAETH 2 7 1% 3620806 K=F/NE5 2 2 0 &Fith
3620809|HFRAETH 2 7 3% 3620806\ KF/N=E5 1 5 1 & 1
3620809|HFRAETH 2 7 4 Fih 3620806\ KF/N=E5 1 5 1 & 1
3620809|FRAETH 2 7 5&ih 3620806 K=F/N=E5 2 1 8 &M 6
3620809|FRAETH 2 7 7% 3620806/ KF/NZ=E5 1 5 0 & 1
3620809|FRAETH 2 7 9 &Fih 3620806 K=F/NE5 2 2 0 &Fith
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3620809|HFRAETH 2 8 0 Fith 3620806| K=F/NE5 1 5 0 i 1 1
3620809|HFRAETH 2 8 1&ih 3620806| KF/N=E5 15 0&FMS5
3620809|HFRAETHE 2 8 4 Fith 3620806| KF/N=E5 15 0FH6
3620809|HFRAETH 2 8 7 &ith 3620806| KF/N=E5 15 2%&FHM 3
3620809|HFRAETHE 2 8 8 Fith 3620806 K=F/N=E5 1 5 3&FM 4
3620809|HFRAETH 2 8 9 &ith 3620806 K=F/NE5 1 5 3 & 1
3620809|HFRAETH 2 9 0Fith 3620806| KF/NZE S5 1 5 4 Fih 1
3620809|HFRAETH 2 9 3&ih 3620806 K=F/NES5 1 7 9 &FiHh 1
3620809|FRAETH 2 9 4 Fih 3620806\ KF/N=E5 1 8 1 & 1
3620809|HFRAETH 2 9 5%&ih 3620806 K=F/NZ=E5 1 5 3 &M 1
3620809|HFRAETH 2 9 6 Fith 3620806 K=F/N=E5 1 5 3&FM 4
3620809|FRAETH 29 7 it 3620806 K=F/NES5 1 4 9 Fith
3620809|HFRAETH 2 9 9 & 3620806 K=F/NES5 1 2 2 FHh 1
3620809|HFRAETH 2 9 9 & 3620806 K=F/NE5 1 4 9 Fith
3620809|HFRAETH 3 0 0 Fith 3620806 K=F/NE5 1 2 1 &M
3620809|FRAETHE 3 0 0 Fith 3620806 K=F/NE5 1 2 3 &M
3620809|HFRAETH 3 0 3&ith 3620806 K=F/N=E5 1 2 O &M 2
3620809|HFRAETHE 3 0 4 Fith 3620806| KF/N=E5 15 0&FHM 3
3620809|HFRAETHE 3 0 5&ith 3620806 K=F/NE5 1 4 9 Fith
3620809|HFRAETH 3 0 7 &Hith 3620806 K=F/NES5 1 4 9 Fith
3620809|HFRAETH 3 0 9 Fith 3620806 K=F/NZE5 1 5 8 &Fith 1
3620809|FRAETHE 3 1 1% 3620806 K=F/NE5 1 5 8 &Fith 1
3620809|HFRAETH 3 1 3&ih 3620806 K=F/N=E5 1 5 8 Fith 7
3620809|HFRAETH 3 1 9&ih 3620806 K=F/NZE5 1 5 8 &Fith 1
3620809|HFRAETH 3 2 0Fith 3620806 K=F/NZ=E5 1 5 8 &Fith 1
3620809|HFRAETH 3 2 3&ih 3620806 K=F/NE5 15 7 &Fih 2
3620809|HFRAETH 3 2 9 &ith 3620806 K=F/NE5 2 1 5 &M 2
3620809|HFRAETH 3 3 1&ih 3620806 K=F/N=E5 2 1 5 &M 2
3620809|HFRAETH 3 4 1% 3620806 K=F/N=E5 1 7 8 &Fith
3620809|HFRAETH 3 4 2%ih 3620806 K=F/NE5 1 6 5 & 1
3620809|HRAETHE 3 4 6 Fith 3620806 K=F/NE5 1 6 6 &Fith 1
3620809|HFRAETHE 3 4 8 Fith 3620806 K=F/NZE5 1 6 6 &Fith 1
3620809|HFRAETH 3 5 0&ith 3620806 K=F/N=E5 1 6 6 &t 2
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